FUKUTA

Inverter Motor &5E&

Ha&4E - 845 - 955 H G,D,T,V series

www.fukuta-motor.com.tw



FUKUTA®

INTRODUCTION HISTORY

1988 &£ 4 BATMIL ©

1990 & REMIWEA HER > PRAEEESCEES

1993 & ZEF—FRIQAWE #EERFE o

1996 & @i 1S0-9002 FEMRAEEE o

1997 F 2B —REAME ITRRERRSE)
). BY *’BI%HI%&%?E RMEERREE] ZHBNER o

). %ﬁuéuu i CE MARK BRI & #5258 o

). TRAREEREGE RESNESBBERTERIERZATS -

2). REM I SEEEERARENER (EFRERMEBRAT ) HRKFESLERR -
1). MMEEREE) RESESERERIET

2). rlOOHPEzlSOHP RIEERRGE) BSLEI LM SBIR stE#E)

3). 2RAVIERER CSA MEAREELHRBE o

1). TR XAREE RES+—EREBRIES

2). BEATRE—EEFRRE
).
).
).
).
).
).
).
)-
)-

1998 £

2000 £

Bl #r

BRI  IERBERERASAMARE  BRRIZ) > IR LIEE
BRAWE - BUEEHE2 AR EMAMAERN - REAT
KRGS o

2001 £

2002
2L

(.»J

i@l 1S0-9001 EFRE RBERE ©

MR REEAEE) BEBLENTER CITD sHEM#L o
AEEH/AEVH/AMEH/AMVH 2511818 -hEE R Bl & A R R R 18238 o
M@RMRREEAEE FEST_BALBRIEE

M250HP F 400HP RUFEMEIAREIE ) MISLEERAMTEE SBIR st &#EE) ©
TRFEMMREEE Frame 2251 BREE+=/E&EBRIEE ©

HAZR  XEEHERHFET TAHFEH SHERE (2FRX )1 BiTaER-

BERIZ EERKBERNRARAR ( LSHEHERRME) » PRBEEESEEEL o

EEEERATIBEBPEARLMNE CCC 3aHIMERDDE o

. BORATEERRAATAR SBIR 512 2004 FEEBRITHAER

3). EEHEARE AR B A S MEEMEELTE -

4). BRELTHERLATER 2006 FEEELAIFRRERS o

5). REM UL ERRERHERAT  SAABREERBHESLEER -

6). MABE T MEREEESHNE o

(
(

(

(

(

(

(

(

(

(

PILEE - HEERES « ARREASHZEE - SEAL - BEME (
PREARY TEIBIE ; SAMLER) - RHISREE > BIOESE » HAIEE « A5 - @ 2W3$E
(

(

a

@

a

@

(

(

(

(

AZRZ®RF
2004 F

w15
MEHE > WERNERARBEEMTE - AEMEBERAFHEREZ
[RR  FERAONRMETRE  BEEMEAZERERE 0 UEMHE -

2005 £

INNOVATION isto create aggressively, pursue customers 2006 F
satisfaction and maintain the company's ever-lasting prosperity. We strive
for creativity and innovation at all time. Based on the concept of customer-

oriented, we provide satisfying products and service to our customers so

that we can make profits efficiently and maintain the coampany's substantial 2008 & ESEEBTEBESEER [okw BEERHBBH) 2HBH%E -
prosperity. (1). EEERKRABRADBEARHENKEAR LM > FrtREE) B HFEEE

2009 £ SUER o

ENTHUSIAS M is to help each other enthusiastically and achieve (2). EEHMZRMHEMRATSEREAT TEEBEE (Luxgen) ERREHE -
the win-win goals of customers, company, and individuals. We respect (1). BEMITIE HERRE - SAEEE AR o
humanity and make a harmonious work environment. Helping each other 2010 (2). BN BB E B N ARSI o
enthusiastically means to care about our customers and colleagues so that (). BB EE BB AR L ER AR EE o
we can have prosperous future of customers, company, and individuals. 2011 % (). BRESEE R [E—EERELANE -
(1). 2E At 75 E AR ESE o
HO N ESTY isto offer the society excellent products and service. In order 2012 % (2). KBRS FRRAAZE
to meet the demands of society, we continue to make efforts based on the (1). PM KRS FREE -
honest principle to provide services and products of best quality and less (2). U T S B R A AR (AT A E o
cost so as to make contributions to the society. 2013 &£ (3). W EE TR E AR 2R RS o
(4). WELEDE —ESMPREEABRR
(1), REQERE _EEUPREEREHBEEHRE -
2014 & (2). *Eﬁ“%%"lilﬁﬁii‘%&¥ﬁéuua§J/ﬁL$u’rgEﬁ§*#§
(3). BRAS4EE TUV SUD |E3 BB ESHFIR
(4). BEIHAERRE/RAAA
(1). EEREDTERBHETANMBEERBHATELAINtE T LK -
2015 F (2). #ELCEISE 24 BEERERE -
(3). BELEEDIMEEERNDESE 18 BNEAK -

2016 F HMHZEGRRERE -SREHHRARELEREHT -
2017 F EUSZIRSEEHE TS-16949 RHEBEAMIE o

2018 F SSRGS —HARRE EXVRRA ©

2019 & HS IATF 16949 £83% o

2020 £ WS UL -
(1). SRERIRE 5 ~ AKX EEE > EEE IDA - Muse ~ 8 ICONIC SEIBESR
BAK o
(2). BRAHEBEERIRE -
(3). EX4§ IECQ QC080000 535% °
(1). REAEF B TRAE AL o
Q). TEAREDERER L RRRBE -
@)
().
().

2021 )

2022
022 % 3). ODM BENERAEMIKE ©

4). B8 1S0-14001 ~ 45001 533% o
FUKUTA 5). % TABIBHTAS) > BRERIE4590



CONTENTS

- " BIERIE 15 BELZERAR 27
%ﬁﬁ)@%ﬁﬂﬁﬁﬂﬁ 03 Inverter Motor Iron-casting Frame Motor Mounting Arrangements
#13 G,D,T,V KoM= G.D#5U (BAxl) G, Series (B3)

04 G,D %5l (i) G,D Series (B5) RS 29
Iron-casting - Character List IE1 05 Motor Accessories
Iron-casting - Character List IE3/GB3 07 EBIEERRE 19

Inverter Duty Motor Iron-casting Frame

Light Weight Type - Character List IE1 09 TV 25| (B\Z) T,V Series (B3)
Light Weight Type - Character List IE3 10 T,V %% (3rz{) T,V Series (B5)
A RB SR 11 RERIESEE i 23

Self-Ventilated Induction Motor Light Weight type Inverter Motor

DM/GM %% (BAXX) DM/GM Series (B3)
DM/GM %5 (37t) DM/GM Series (B5) (B14)

RENSAGRRIE 25

Light Weight type Inverter duty Motor
VM/TM &% (BAZ() VM/TM Series (B3)
VM/TM &% (32x) VM/TM Series (B5) (B14)

gﬁ %1?\ Motor Wiring Diagram

6 Lead o 0O0 9 Lead

Y ﬁm ©0O0 3 zzz Zgg
g T T 000
", v

Low Voltage Delta High Voltage Wye
Run start Power line Power line
@ 5 Low Voltage Delta High Voltage Wye

%l

w5 V5 Run Start
/§< w2 &N &N
w1

- cos o0s sos

W6
/§< \%UZ ﬁ ﬁ z
us
200
Power line Power line Power line Power line

Run Start Run Start
4) (28] [t (&)

VS V2

BB 3E 4R U8 IS Bll naming convention

TF EFA 40051 [

BENR FiEES Ew/ER @E® 0000 BH

o @ o0 O0 o G

o BENSK e BERD © FE/EH 4] (7% © 5N © L7 RS
Motor Type Installation method Standard/ Customized Poles Output Hz
GF : GRYIESE VF : i RIEL A IEE 2 1 2fBPoles R50 : 0.5 1:50
Inverter Motor Iron-casting Frame, G series Flange Mounted, IE1 Standard
DF : DA&FIE4A EF : BAZLIEL B: &M
Inverter Motor Iron-casting Frame, D series Foot Mounted, IE1 Customized 4 : 4fBPoles 005:5 2:60
TRTRYEEER VB : iIxB14
Inverter Duty Motor Iron-casting Frame, T series Flange Mounted (B14) - 6iEPol 010 : 10
VF:VABIZAE A VN : tEs 6+ bifPoles :

Inverter Duty Motor Iron-casting Frame, V series Flange Mounted, Self-ventilated

GM : GRFIFEIEIR EN: BAXLE% 025 : 25
Light Weight type Inverter Motor, G series Foot Mounted, Self-ventilated

DM : DAJIEE SR A

Light Weight type Inverter Motor, D series

TMTRIREBRESREA

Light Weight type Inverter Motor, T series

VM:VER S B R a8

Light Weight type Inverter Motor, V series

AE | BHERE VK : IZRIE3 G: G&RJI

Huj,hih:wwci:\.mtfr motor Flange (iumf:r\,\Ea D: D&F|

AM: BRI SR BT EK : EARUIE3 T: TZ5)

Light Weight type High Efficiency Inverter Motor Foot Mounted, IE3 ¢ TRS
VT : 3I7GB3 Vi VRS
Flange Mounted, GB3 N: B4

ET : EARGB3

Foot Mounted, GB3
- SGREBERE > RRERBREER 0 FRAHE o
For customized product, please contact us for further inquiries. FUKUTA



FUKUTA®

HABRRIMMAE

Self-ventilated Induction Motor
Characteristic

H B

RERE

M &

Specification

TE48 Motor type

= HEREXREBEH (SCIM)
3 Phase squirrel cage induction motor
BERETIZES (IEC)PRERBREXRIZE (CNS)

BfR9%EE Rated Time

BEEBTE FHARES.F: 1.0 = Continuous rated, service factor: 1.0

1753 Protection Enclosure

IP54: 2% = IP54,Totally enclosed

#4175 Method of cooling

2FIC411 B®INESA = 1C411 Totally enclosed fan cooling

Z# A Mounting

DFEN/AEEK(N)E!: 7k FE2e8£(IM1001) = DFVN/AEVK(N)EL: $E22 228 (1M3001)
DFEN/AEEK(N):Foot Mounted = DFVN/AEVK(N):Flange Mounted

ZAEHH (HP) Rated Output

1/4 ~ 300 HP

EIZEEJR Input power supply

220,380,415,440,460V 500r60Hz ( H#1EIR)

I Torque

AN-DN RIIEHEEHERIEE:3:1

B2 %% 60Hz~ 20HZE 4B 20Hz~ 6HzZIE R 4R > 85 AL IE LE R SR T A IR
Constant torque 3:1

60HZ ~ 20Hz Constant torque, 20Hz~ 6Hz decreasing torque

ERIRIR
Ambient
Conditions

4B45 4R Stator Insulation

AN-DN %75 H 4 (i zAfrsE2Z— )
AN,DN series: H class (with thermal protector)

EiE Power

BEEEE: £10% LA = Voltage variation:within £10%
RGBT . £5% LA = Frequency variation:within =5%

¥%Ff Place

—RER (BREatREERSELRY E)

Shadow, Non — Hazardous

/&R Temperature

— 15°C ~40°C

SREE Humidity

FEEHRE 80% UT (RBAE)
Relative Humidity less than 80% RH(Non — condensation)

25 Altitude

B 1000 ARMLT = Less than 1000 meter

1Z# &M Rotation Direction

EAEIRRZ > AYFEFH A EEE = Counter — clockwise facing the drive end

BEESS

Coupling Method

BEEBS (BMEER ) iREEEN, 2P-50HP(3) U LEBRANEREFE

Direct coupling/belt coupling, while 2P-50HP and Larger, direct-coupled motor Only.

M3{4 Accessories

BReESR 1 145°CE AR
Thermal protector:145°C (Nomal Close)

BR ZEMMBARTHBAN AR FEERA BIELSMIBITshin 24
Requirement: Install the coupling or pulley by using a shaft end threaded press-in method;
refrain from using external force to strike the shaft end during installation.

FUKUTA




Invertor Motor

bS] G,D, 7; v,%ﬁl]ﬁiﬁi% Characteristic

1\ H

RERE

48 Motor type

= HREXREEEH (SCIM)
3 Phase squirrel cage induction motor
BIRETZEE (EC) - MERBERIRE (CNS)

R# AT Protection Enclosure

IP54 : 2=,
IP54,Totally enclosed

Z# A Mounting

GF/DF/TF/VFEF:7KSE224£(IM1001) = GF/DF/TF/VFEF:Foot Mounted(IM1001)
GF/DF/TF/VFVF:/4FE42%4£(IM3001) = GF/DF/TF/VFVF:Flange Mounted(IM3001)
GM/DM/TM/VMVB:CEL X %4 (IM3601) = GM/DM/TM/VMVB:C Type Flange(IM3601)

2 aA I Method of cooling

IC416 : ZEE &S S AD
IC416 : Fan cooled

# 8 1B25 Pole
Specification

2P - 4P - 6P

BEE#MmE (HP) Rated Output

1/4 ~ 300 = 1/4~300 = 1/4~270

EH R EER
Forced cooling fan power supply

180(F)MELLT : BB48(230V) 5 200(&)HEMU L © =48(220,380,415,460V)
Frame No0.63~180 : 1 Phase(230V) ~ Frame N0.200~315 : 3 Phase(220,380,415,460V)

EZEEF Input power supply

39220,380,415,440,460V 500r60Hz ( EMEIR )

FFFEIEEE Time Duty

BT, FRARHESF 10
Continuous rated, service factor:1.0

EIEH Torque

V,T RIESEEHEREE : 10:1

Constant torque 10:1

D,G &% 60Hz ~ 10Hz FE#E 10Hz ~ 6Hz IEIREIE , EAEAL E LN ER T 75 IR
60Hz~10Hz Constant torque, 10Hz~6Hz decreasing torque

EXBh45 1% Starting Torque

125% EBEE@AE = 125% of rated torque

4B % 4R Stator Insulation

(G,T &% )F #& ~ (D,V T )H #& ( Hizh{R:E2: — E AR )
G,T series F class : D,V series H class(with thermal protector)

35 Fr Place - —fRER (BREERERSERZ R) = Shadow, Non — Hazardous
fEREE —— —
Ambient 25 Altitude = 75 1000 ARMTF = Less than 1000 meter
Conditions [558 Temperature « — 15°C ~ 40°C

SREE Humidity

HEEPRE 80% WUF (RSHEE)
Relative humidity less than 80% RH (Non — condensation)

1Z# 8@ Rotation direction

ER#IHRZ > APEH 5 BiEE

Counter — clockwise facing the drive end

&#EZE A Coupling Method

B (FEERS) IREESR, 2P-50HP(2) U LEEAREEEE
Direct coupling/belt coupling, while 2P-50HP and Larger, direct-coupled motor Only.

#&4E Painting

B 8 R 12 + BRI AR RS + PEHER. (Munsell N3 ~ 2.5PB4/10 ~ 5GY5/4)
Rust prevention+Phenolic resin+Enamel paint

BIZM% M4 Optional accessories

[E#%4EE : PG (Encoder) #RA528 1024PPR, Line drive DC — 5V/Push pull DC — 12V S ELA#RAR
Encoder: 1024PPR, Line drive DC — 5V/Push pull DC — 12V or other type

Fif# Accessories

132M(E B T EREESS 1 120°CERARL

Frame No0.63~132M thermal protector: 120°C (Nomal Close)
160M(2)HE £ 2RSS 1 145°CE IR

Frame No.160M~315L thermal protector : 145°C (Nomal Close)

BR ZEHMBNE T RSN BMKR T EREBA BIELUMNIET#HiIGZ 5 -
Requirement: Install the coupling or pulley by using a shaft end threaded press-in method;
refrain from using external force to strike the shaft end during installation. FUKUTA



5 1% Z& Character List
#E R X [ B5 3% Iron-casting 60Hz

Output Full Load Character rting Character - Inertia
Frame

KW No Efficiency Power kg-m?
Factor % 220V 380V °

3430 63 62.0 75.0 0.053 240 6 3 250 0.0020

1/4 0.185 4 1650 63 66.0 65.0 l.l 047 0.109 250 6 3 270 0.0020
6 1090 71 64.0 61.0 1.2 0.7 0.165 200 6 3 250 0.0070

2 3370 71 66.0 86.0 1.7 1.0 0.107 240 12 7 260 0.0020

1/2 0.37 4 1660 71 68.0 78.0 1.8 Aol 0.217 200 12 7 250 0.0050

6 1130 80 66.0 70.0 2.1 1.2 0.319 200 12 7 230 0.0085

2 3450 80 76.0 90.0 2.9 1.7 0.212 220 19 11 280 0.0051

1 0.75 4 1730 80 84.7 80.5 2.9 1.7 0.422 230 19 11 280 0.0100

6 1140 90L 77.0 64.0 4.0 2.3 0.641 200 19 11 230 0.0172

2 3460 90L 81.5 91.0 5.3 Bodl 0.422 250 40 23 280 0.0110

2 1.5 4 1730 90L 81.5 76.0 6.4 3.7 0.845 220 40 23 280 0.0180

6 1140 100L 84.0 71.0 6.6 3.8 1.282 180 40 23 220 0.0580

2 3480 90L 82.5 86.0 8.1 4.7 0.616 250 68 39 280 0.0131

3 2.2 4 1740 100L 85.5 80.0 8.4 4.9 1.232 210 68 39 260 0.0425

6 1140 112M 85.5 74.8 9.0 5.2 1.881 180 68 39 230 0.0787

2 3450 112Mm 85.5 90.0 12.6 7.3 1.045 240 110 64 280 0.0450

5 3.7 4 1750 112m 85.5 84.5 13.4 7.8 2.060 220 110 64 260 0.0720

6 1150 1328 85.5 [ES 14.7 8.5 SRIS5) 180 110 64 230 0.1420

2 3490 1328 86.5 85.0 19.6 11.4 1.536 220 160 93 260 0.0520

7.5 5.5 4 1770 1328 87.5 83.0 19.9 11.5 3.028 220 160 93 250 0.1120
6 1150 132M 87.5 7.5 21.3 12.3 4.661 200 160 93 230 0.1190

2 3510 1328 87.5 93.0 24.2 14.0 2.082 200 200 116 210 0.0680

10 25 4 1770 132M 87.5 84.0 26.8 15,5 4.129 220 200 116 250 0.1450
6 1180 160M 87.5 80.0 28.1 16.3 6.194 210 200 116 230 0.4150

2 3550 160M 88.5 90.0 36.2 21.0 3.020 200 290 168 240 0.1530

15 11 4 1770 160M 89.5 83.5 38.6 22.4 6.056 220 290 168 250 0.3100
6 1170 160L 88.5 83.0 39.3 22.8 9.162 210 290 168 230 0.6140

2 3520 160M 88.5 91.0 48.9 28.3 4.153 200 360 208 240 0.2080

20 15 4 1760 160L 89.5 85.5 51.4 298 8.305 220 360 208 240 0.3940
6 1170 180M 88.5 85.5 52.0 30.1 12.49 200 360 208 220 1.0500

2 3520 160L 89.5 87.0 62.4 36.1 5.122 200 440 255 230 0.2370

25 18.5 4 1760 180M 91.0 82.0 65.1 37.7 10.24 210 440 255 240 0.6540
6 1170 180L 90.2 84.5 63.7 36.9 15.41 200 440 255 220 1.3350

2 3520 180M 89.5 88.0 73,3 42.4 6.091 200 550 318 230 0.2830

30 22 4 1760 180M 91.0 83.6 75.9 43.9 12.18 210 550 318 240 0.7150
6 1170 180L 90.2 79.5 80.5 46.6 18.32 200 550 318 215 1.4330

2 3520 180L 90.2 91.5 95.4 55.2 8.305 150 620 359 210 0.3520

40 30 4 1760 180L 91.7 88.0 97.6 56.5 16.61 210 620 359 240 0.8080
6 1170 200L 91.7 87.0 98.7 57.1 24.99 190 620 359 215 2.5580

2 3545 200L 91.0 87.0 122.6 71.0 10.17 150 800 463 210 0.9050

50 37 4 1760 200L 91.7 84.5 125.3 72.5 20.49 200 800 463 230 1.5030
6 1170 200L 91.7 84.0 126.1 73.0 30.82 210 800 463 210 3.2360

2 3545 200L 91.7 90.0 143.1 82.8 12.37 170 910 527 220 1.0720

60 45 4 1770 200L 92.4 86.0 148.6 86.0 24.78 190 910 527 220 1.7320
6 1180 225S 92.4 83.0 154.0 89.1 37.16 210 910 527 210 4.1950

2 3550 225S 91.7 91.0 173.0 100.1 15.10 180 1200 695 220 1.2150

75 55 4 1770 225S 93.0 88.0 176.4 102.1 30.28 185 1200 695 220 2.7950
6 1180 250S 92.4 86.0 181.6 105.2 45.42 200 1200 695 210 6.4830

2 3555 2508 92.4 85.0 250.6 145.1 20.56 180 1450 839 220 1.7090

100 75 4 1775 250S 93.6 88.0 239.0 138.3 41.18 180 1450 839 220 4.8320
6 1185 250M 93.0 89.0 237.8 137.7 61.68 200 1450 839 200 7.6940

2 B5]15) 250M 93.6 89.0 283.5 164.1 24.53 150 2180 1262 300 2.0530

125 90 4 1775 250M 93.6 88.0 286.7 166.0 49.41 180 2100 1216 220 5.0330
6 1190 280S 93.0 87.5 290.2 168.0 73.70 130 1990 1152 230 9.1850

2 3565 280S 93.6 87.5 352.5 204.1 30.07 120 2274 1317 280 2.6520

150 110 4 1770 280S 94.1 87.0 352.6 204.1 60.56 130 2420 1401 230 6.7280
6 1180 280M 94.1 85.5 358.8 207.7 90.84 130 2420 1401 230 11.200

2 3565 280M 94.1 88.0 418.3 242.2 36.08 100 2678 1550 280 3.1500

175 132 4 1770 280M 94.1 85.0 433.1 250.7 72.67 130 2910 1685 230 7.5830
6 1185 158 94.1 84.0 438.2 253.7 108.6 130 2910 1685 230 17.850

2 3575 315S 94.1 88.7 471.6 273.0 40.89 110 3100 1795 250 5.1720

200 150 4 1785 315S 94.1 87.0 480.8 278.4 81.89 130 3300 1911 230 11.432
6 1190 315M 94.1 86.2 485.3 281.0 122.8 130 3064 1774 230 20.792

2 3570 315S 94.1 88.5 504.2 291.9 43.67 120 3236 1873 250 6.8230

215 160 4 1775 3158 94.1 88.3 505.3 292.6 87.84 130 3530 2044 230 14.132
6 1185 315M 94.1 86.5 55,9 298.7 131.6 130 3530 2044 230 23595

2 3570 315M 94.1 88.5 589.3 341.2 43.67 160 4134 2393 260 8.0280

250 187 4 1775 315M 94.5 90.0 577.0 334.1 102.7 120 4450 2576 230 17.215
6 1190 315L 94.1 83.4 625.3 362.0 153.1 150 4412 2554 200 26.561

2 3570 315M 94.5 88.5 627.6 363.3 54.59 160 4134 2393 260 10.456

270 200 4 1775 315M 94.5 88.0 631.1 365.4 109.8 120 4450 2576 230 20.156
6 1190 315L 94.1 83.3 669.6 387.7 163.8 150 4532 2624 200 29.156

300 220 2 3570 315L 94.5 88.7 704.4 407.8 61.42 160 4154 2405 260 12.156
4 1780 315L 94.5 87.0 718.2 415.8 123.2 180 4600 2663 200 22.156

5F (Note): 1. M AZM IEC34 (Examination method according to IEC34)
DU EHMEEEEE , KA STEA - (All data is subject to change without prior notification.)



Character List

IRERMRXERERIEX 50Hz
Frame rque

o' [[Eency | Powe CurrentAmp_
acors Laor oo

2905 63 56.0 76.5 0.7 0.062 4 250 0.0020

1/4 0.185 4 1422 63 64.0 68.5 1.1 0.6 0.127 220 6 4 240 0.0020
6 949 71 60.0 60.0 1.3 0.8 0.190 260 6 4 270 0.0070

2 2916 71 68.7 74.8 1.9 alodl 0.124 250 12 7 260 0.0020

1/2 0.37 4 1390 71 67.6 73.0 2.0 1.1 0.259 200 12 7 230 0.0050

6 942 80 63.0 67.0 2.3 1.3 0.383 200 12 7 230 0.0085

2 2820 80 72.1 87.0 3.1 1.8 0.259 220 19 11 280 0.0051

1 0.75 4 1425 80 72.1 80.0 3.4 2.0 0.513 250 19 11 280 0.0100

6 957 90L 70.0 70.0 4.0 2.3 0.764 190 19 11 230 0.0172

2 2807 90L 77.2 89.0 5,1/ 33 0.521 250 40 23 280 0.0110

2 1.5 4 1436 90L 7.2 85.0 6.0 3.5 1.018 220 40 23 280 0.0180

6 936 100L 75.2 80.0 6.5 3.8 1.562 180 40 23 220 0.0580

2 2842 90L 79.7 88.5 8.2 4.7 0.754 250 67 39 280 0.0131

3 2.2 4 1438 100L 79.7 85.0 8.5 4.9 1.491 210 67 39 260 0.0425

6 950 112M 7.7 80.0 9.3 5.4 2.257 180 67 39 230 0.0787

2 2900 112M 83.1 92.0 12.7 7.4 1.243 240 109 63 320 0.0450

5 3.7 4 1453 112M 83.1 83.5 14.0 8.1 2.481 220 109 63 290 0.0720

6 967 1328 81.4 82.0 14.5 8.4 3.729 180 109 63 230 0.1420

2 2937 132S 84.7 90.0 18.9 11.0 1.825 210 161 93 260 0.0520

7.5 5.5 4 1450 132S 84.7 84.0 20.3 11.7 3.696 220 161 93 280 0.1120
6 970 132M 83.1 82.5 21.1 12.2 5.525 200 161 93 230 0.1190

2 2930 1328 86.0 93.0 24.6 14.2 2.494 200 200 116 250 0.0680

10 {785 4 1468 132M 86.0 84.1 27.2 15.8 4.979 220 200 116 250 0.1450
6 980 160M 84.7 78.5 29.6 17.1 7.458 270 200 116 300 0.4150

2 2950 160M 87.6 88.0 37.4 21.7 3.634 210 290 168 290 0.1530

15 11 4 1460 160M 87.6 84.6 39.0 22.6 7.342 220 290 168 250 0.3100
6 980 160L 86.4 80.0 41.8 24.2 10.94 220 290 168 260 0.6140

2 2950 160M 88.7 88.4 50.2 29.1 4.955 210 361 209 260 0.2080

20 15 4 1460 160L 88.7 85.0 52.2 30.2 10.01 230 361 209 260 0.3940
6 980 180M 871.7 84.0 53.4 30.9 14.92 210 361 209 230 1.0500

2 2950 160L 89.3 90.0 60.4 35.0 6.111 240 463 268 290 0.2370

25 18.5 4 1465 180M 89.3 82.6 65.8 38.1 12.31 210 463 268 240 0.6540
6 980 180L 88.6 80.7 67.9 39.3 18.40 220 463 268 240 1.3350

2 2920 180M 89.9 90.0 71.4 41.3 7.342 210 551 Jig 250 0.2830

30 22 4 1465 180M 89.9 83.4 77.0 44.6 14.63 210 551 319 240 0.7150
6 980 180L 89.2 84.4 76.7 44.4 21.88 230 551 319 260 1.4330

2 2920 180L 90.7 91.0 95.4 55.2 10.01 210 687 398 240 0.3520

40 30 4 1460 180L 90.7 84.0 103.3 59.8 20.02 220 687 398 230 0.8080
6 980 200L 90.2 83.0 105.2 60.9 29.83 190 687 398 200 2.5580

2 2940 200L 91.2 87.5 121.7 70.4 12.26 150 800 463 210 0.9050

50 37 4 1478 200L 91.2 87.1 122.2 70.8 24.40 190 800 463 210 1.5030
6 970 200L 90.8 80.3 133.2 77.1 37.17 230 800 463 250 3.2360

2 2955 200L 91.7 87.0 148.0 85.7 14.84 160 1005 582 220 1.0720

60 45 4 1477 200L 91.7 84.1 153.1 88.7 29.69 190 1005 582 200 1.7320
6 980 225S 91.4 84.0 153.8 89.1 44.75 220 1005 582 250 4.1950

2 2956 225S 92.1 87.2 179.7 104.1 18.13 180 1005 582 220 1.2150

75 55 4 1470 2258 92.1 85.0 184.4 106.7 36.46 180 1252 725 200 2.7950
6 980 250S 9.9 84.0 187.0 108.2 54.69 200 1252 725 210 6.4830

2 2980 2508 92.7 87.8 241.8 140.0 24.53 180 1601 927 220 1.7090

100 75 4 1475 250S 92.7 88.0 241.3 139.7 49.55 240 1601 927 250 4.8320
6 975 250M 92.6 87.0 244.3 141.4 74.96 220 1601 927 250 7.6940

2 2980 250M 93.0 88.5 287.0 166.1 29.43 150 2397 1388 300 2.0530

125 90 4 1475 250M 93.0 92.0 276.1 159.8 59.46 190 2150 1245 230 5.0330
6 1S 280S OR%0) 81.0 SISEO) 181.7 89.95 130 1986 1150 230 9.1850

2 2980 280S 93.3 86.0 359.8 208.3 35.97 120 2501 1448 280 2.6520

150 110 4 1490 280S 93.3 91.8 337.0 195.1 71.94 130 2418 1400 230 6.7280
6 975 280M 93.3 81.0 382.0 221.1 109.9 130 2418 1400 230 11.200

2 2980 280M 939 87.5 423.4 245.1 43.17 100 2945 1705 280 3.1500

175 132 4 1475 280M 935 83.5 443,17 256.9 87.21 130 2902 1680 230 7.5830
6 980 315S 93.5 83.5 443.7 256.9 131.3 130 2902 1680 230 17.850

2 2980 315S 93.8 88.7 473.1 273.9 49.05 110 3099 1794 250 5.1720

200 150 4 1475 315S 93.8 86.9 482.9 279.6 99.10 130 3299 1910 230 11.432
6 980 315M 93.8 85.7 489.7 283.5 149.2 130 3064 1774 230 20.792

2 2980 3158 93.8 87.0 514.5 2815 52.32 120 3558 2060 250 6.8230

215 160 4 1480 3158 93.8 86.4 518.1 300.0 105.4 130 3506 2030 230 14.132
6 980 315M 93.8 85.5 523.6 303.1 159.1 130 3506 2030 230 23595

2 2980 315M 94.0 87.0 600.1 347.4 61.15 160 4546 2632 260 8.0280

250 187 4 1480 315M 94.0 87.5 596.7 345.4 123.1 120 4405 2550 230 17.215
6 980 315L 94.0 82.9 629.8 364.6 185.9 150 4411 2554 200 26.561

2 2980 315M 94.0 87.0 641.8 371.6 65.40 160 4546 2632 260 10.456

270 200 4 1480 315M 94.0 88.5 630.9 365.3 131.7 120 4405 2550 230 20.156
6 980 315L 94.0 3.3 670.3 388.1 198.9 150 4531 2623 200 29.156

300 220 2 2980 315M 94.0 88.7 708.2 410.0 73.58 160 4152 2404 260 12.156
4 1480 315L 94.0 85.0 739.0 427.8 148.1 180 4600 2663 200 22.156

5F (Note): 1. M AZEMK IEC34 (Examination method according to IEC34)
.U FHEEBEE , A ST o (All data is subject to change without prior notification.)



%5 ¥ & Character List
HBeWMERR[EEE Iron-casting 60H7

Output Full Load Character i
Frame

ham No Efficiency Power
% Factor % 220v

3530 80 77.0 82.4 1.8 0.207 350 430 0.0071

1 0.75 4 1750 80 85.5 74.4 3.1 1.8 0.418 390 26 15 420 0.0120
6 1145 90L 82.5 69.6 3.4 2.0 0.638 195 20 12 265 0.0192

2 3500 90L 85.5 84.3 5.5 3.2 0.418 335 46 27 395 0.0130

2 1.5 4 1750 90L 86.5 78.5 5.8 3.4 0.835 325 51 30 385 0.0200
6 1165 100L 88.5 68.6 6.5 3.8 1,255 170 44 25 270 0.0600

2 3500 90L 86.5 85.6 7.8 4.5 0.613 390 70 41 400 0.0151

3 2.2 4 1770 100L 89.5 7.3 8.3 4.8 1.211 320 75 43 330 0.0445
6 1160 112M 89.5 72.2 8.9 5.2 1.848 170 57 33 265 0.0807

2 3540 112M 88.5 92.0 11.9 6.9 1.019 320 120 69 385 0.0470

5] BN 4 1760 112M 89.5 87.5 12.4 7.2 2.049 225 110 64 325 0.0740
6 1165 1328 89.5 78.7 13.8 8.0 3.095 185 105 61 280 0.1440

2 3550 1328 89.5 86.0 18.8 10.9 1.510 245 140 81 295 0.0540

7.5 5.5 4 1770 1328 91.7 84.8 18.6 10.7 3.028 250 160 93 310 0.1140
6 1175 132M 91.0 76.2 20.8 12.1 4.561 230 170 98 345 0.1210

2 3550 132S 90.2 89.5 24.4 14.1 2.059 255 200 116 300 0.0700

10 85 4 1778 132M 91.7 83.0 25,9 15.0 4.111 270 230 133 320 0.1470
6 1175 160M 91.0 79.1 27.3 15.8 6.220 240 210 122 285 0.4170

2 3560 160M 91.0 89.2 35.6 20.6 3.011 235 280 162 285 0.1550

15 11 4 1780 160M 92.4 82.5 37.9 21.9 6.022 245 290 168 275 0.3120
6 1170 160L 91.7 80.1 39.3 22.8 9.162 250 320 185 290 0.6160

2 3540 160M 91.0 91.8 47.1 213 4.129 240 390 226 290 0.2100

20 15 4 1780 160L 93.0 83.4 50.8 29.4 8.212 255 400 232 285 0.3960
6 1185 180M 91.7 80.8 53.1 30.8 12.34 240 340 197 260 1.0520

2 3535 160L 91.7 92.1 57.5 333 5.100 260 500 289 295 0.2390

25 18.5 4 1770 180M 93.6 86.3 60.1 34.8 10.19 250 470 272 265 0.6560
6 1180 180L 93.0 82.4 63.4 36.7 15.28 280 530 307 300 1.3370

2 3570 180M Qa7 87.9 71.6 415 6.005 225 560 324 280 0.2850

30 22 4 1775 180M 93.6 85.4 72.2 41.8 12.08 220 560 324 250 0.7170
6 1180 180L 93.0 84.3 73.6 42.6 18.17 215 590 342 285 1.4350

2 3546 180L 92.4 84.6 100.7 58.3 8.244 251 801 464 310 0.3540

40 30 4 1777 180L 94.1 81.4 102.8 59.5 16.45 284 831 481 353 0.8100
6 1180 200L 94.1 82.1 101.9 59.0 24.78 210 620 359 240 2.5600

2 8555) 200L 93.0 89.0 117.3 67.9 10.14 170 960 556 295 0.9070

50 37 4 1780 200L 94.5 84.0 122.3 70.8 20.26 215 870 504 250 1.5050
6 1185 200L 94.1 83.0 124.3 72.0 30.43 240 860 498 250 3.2380

2 3555 200L 93.6 90.9 138.8 80.4 12.34 160 1000 579 265 1.0740

60 45 4 1775 200L 95.0 84.8 146.6 84.9 24.71 215 1050 608 260 1.7340
6 1185 225S 94.5 84.3 148.2 85.8 37.01 240 1090 631 260 4.1970

2 3560 225S 93.6 89.0 173.8 100.3 15.06 220 1473 853 260 1.2170

75 55 4 1785 225S 95.4 87.9 172.1 99.7 30.03 160 1440 834 260 2.7970
6 1185 250S 94.5 84.5 180.8 104.6 45.23 190 1260 729 260 6.4850

2 3575 2508 94.1 90.5 231.1 133.8 20.44 170 1761 1020 260 1.7110

100 75 4 1780 2508 95.4 86.9 237.4 137.5 41.06 190 1870 1083 300 4.8340
6 1185 250M 95.0 85.5 242.3 140.3 61.68 185 1620 938 250 7.6960

2 B5]7(5) 250M 95.0 89.0 279.3 161.7 24.53 160 2358 1365 310 2.0550

125 90 4 1785 250M 95.4 89.1 277.9 160.9 49.13 200 2540 1471 305 5.0350
6 1185 280S 95.0 88.0 282.5 163.6 74.01 240 2600 1505 250 9.1870

2 3580 280S 95.0 88.0 345.3 199.9 29.94 135 2850 1650 250 2.6540

150 110 4 1785 280S 95.8 89.6 336.3 194.7 60.05 210 2900 1679 260 6.7300
6 1185 280M 95.8 89.6 336.3 194.7 90.46 210 2900 1679 240 11.230

2 3575 280M 95.0 88.0 414.4 2399 35.98 150 3109 1800 250 3.1800

175 132 4 1790 280M 95.8 86.0 420.5 243.4 71.86 155 3109 1800 375 7.6100
6 1190 Bii5S 95.8 85.0 425.4 246.3 108.1 265 3455 2000 275 17.880

2 3575 315S 95.4 90.8 454.4 263.1 40.89 150 3860 2235 250 5.2000

200 150 4 1785 315S 96.2 87.0 470.3 272.3 81.89 130 3800 2200 330 11.460
6 1190 315M 95.8 81.5 504.2 291.9 122.8 265 3264 1890 275 20.820

2 3579 315S 95.4 90.0 489.0 283.1 43.56 160 3800 2200 250 6.8500

215 160 4 1788 Bi5S 96.2 87.0 501.7 290.5 87.20 130 3800 2200 330 14.160
6 1190 315M 95.8 85.5 512.6 296.8 131.0 220 4197 2430 220 23.630

2 3580 315M 95.8 90.0 563.1 326.0 50.36 180 3601 2085 280 8.0600

250 185 4 1785 315M 96.2 86.0 586.8 339.7 101.0 220 4905 2840 290 17.250
6 1190 315L 95.8 81.5 621.8 360.0 151.5 190 4411 2554 250 26.590

2 B575) 315M 95.8 89.0 615.6 356.4 54.52 140 3784 2191 240 10.490

270 200 4 1790 315M 96.2 87.0 627.1 363.1 108.9 180 4983 2885 260 20.190
6 1190 315L 95.8 82.5 664.1 384.5 163.8 180 4538 2627 250 29.190

300 220 2 3570 315L 95.8 89.9 670.4 388.1 60.05 140 4058 2349 240 12.190
4 1780 315L 96.2 87.0 689.8 399.4 120.4 180 5012 2902 200 22.190

5 (Note): 1. M AZEMKIEC34 (Examination method according to IEC34)
QU EHMEEEES , WAST@A o (All data is subject to change without prior notification.)

FUKUTA



Character List
BERRREEEEE 50Hz

I o e B e P e e
IS

2860 80 80.7 87.9 0.256 330 24 14 390 0.0071

1 0.75 4 1440 80 82.5 76.6 3.1 1.8 0.508 315 24 14 375 0.0120
6 940 9oL 78.9 70.6 3.5 2.0 0.778 200 19 11 235 0.0192

2 2879 90L 84.2 87.4 5.3 Soll 0.508 340 41 24 360 0.0130

2 1.5 4 1450 9oL 85.3 80.9 5.7 3.3 1.008 320 47 27 360 0.0200
6 965 100L 82.5 70.2 6.8 BEC) 1.515 175 41 24 250 0.0600

2 2845 9oL 85.9 87.6 1.7 4.4 0.754 330 64 37 355 0.0151

3 2.2 4 1460 100L 86.7 75.6 8.8 5.1 1.468 300 69 40 315 0.0445
6 960 112M 84.3 72.5 9.4 5.5 2.233 175 55 32 265 0.0807

2 2930 112M 88.1 91.3 12.1 7.0 1231 290 109 63 345 0.0470

5 81 4 1465 112M 88.6 82.9 13.2 1.7 2.461 235 109 63 305 0.0740
6 965 132S 86.8 76.6 14.6 8.5 3.736 200 100 58 275 0.1440

2 2940 1328 89.2 87.3 18.5 10.7 1.823 230 138 80 290 0.0540

7.5 5.5 4 1460 1328 89.6 80.2 20.1 11.6 3.671 240 145 84 295 0.1140
6 970 132M 88.0 85.2 19.3 11.1 5.525 225 164 95 335 0.1210

2 2950 1328 90.1 91.0 24.0 13.9 2.478 270 190 110 300 0.0700

10 73 4 1470 132M 90.4 84.4 25.8 14.9 4.972 260 209 121 315 0.1470
6 970 160M 89.1 8.7 28.1 16.3 8585 270 200 116 280 0.4170

2 2960 160M 91.2 88.0 36.0 20.8 3.621 230 264 153 280 0.1550

15 11 4 1480 160M 91.4 82.0 38.5 22.3 7.243 230 273 158 270 0.3120
6 970 160L 90.3 81.9 39.0 22.6 11.05 250 290 168 285 0.6160

2 2950 160M 019 91.6 46.8 27.1 4.955 230 363 210 290 0.2100

20 15 4 1470 160L 928} 83.3 53 29.7 9:94 250 313 216 280 0.3960
6 970 180M 91.2 82.9 211 30.1 15.07 220 318 184 235 1.0520

2 2930 160L 92.4 92.9 56.6 32.7 6.153 250 454 263 300 0.2390

25 18.5 4 1470 180M 92.6 83.3 62.9 36.4 12.26 235 446 258 265 0.6560
6 980 180M 91.7 81.7 64.8 37.5 18.40 285 501 290 310 1.3370

2 2085) 180M 9281, 89.2 69.8 40.4 7.305 225 546 316 270 0.2850

30 22 4 1475 180M 93.0 83.1 VAT 43.3 14.53 215 535 310 255 0.7170
6 013 180L 92.2 82.5 75.9 43.9 21,88 265 554 321 285 1.4350

2 2950 180L 93.3 91.5 92.2 53.4 9.910 255 791 458 330 0.3540

40 30 4 1475 180L 93.6 83.9 100.3 58.0 19.82 215 682 395 260 0.8100
6 980 200L 92.9 85.5 99.1 57.4 29.83 210 582 337 220 2.5600

2 2950 200L 93.7 871.7 118.2 68.4 12.22 185 936 542 300 0.9070

50 37 4 1480 200L 93.9 85.1 121.5 70.3 24.36 205 836 484 255 1.5050
6 980 200L 033 87.8 118.5 68.6 36.79 210 800 463 245 3.2380

2 2955 200L 94.0 91.0 138.1 79.9 14.84 165 981 568 270 1.0740

60 45 4 1485 200L 94.2 84.0 149.2 86.4 29.53 205 1000 579 270 1.7340
6 985 225S 93.7 86.1 146.4 84.7 44.52 235 1028 595 270 4.1970

2 2958 225S 94.3 89.2 171.6 0.3 18.12 220 1387 803 260 1.2170

75 55 4 1485 2258 94.6 85.5 178.5 103.3 36.09 250 1318 763 275 2.7970
6 985 2508 94.1 83.6 183.5 106.2 54.41 1195} 1245 721 275 6.4850

2 2977 2508 94.7 88.5 234.8 136.0 24.55 180 1827 1058 220 1.7110

100 75 4 1480 2508 95.0 86.5 239.5 138.7 49.38 180 1655 958 295 4.8340
6 985 250M 94.6 84.7 245.6 142.2 74.20 185 1546 895 260 7.6960

2 2970 250M 95.0 90.5 274.7 159.0 29.53 150 2196 1272 285 2.0550

125 90 4 1480 250M 95.2 Qi3 20,1 1573 59.26 205 2418 1400 295 5.0350
6 985 280S 94209 84.3 295.2 170.9 89.04 5] 2548 1473 265 9.1870

2 2980 280S 95.2 90.5 335.1 194.0 35.97 200 2580 1494 240 2.6540

150 110 4 1480 280S 95.4 87.6 345.4 200.0 72.43 180 2729 1580 230 6.7300
6 985 280M 95.1 87.6 346.5 200.6 108.8 270 2729 1580 270 11.230

2 2980 280M 95.4 90.5 401.2 2373 43.17 200 3089 1788 240 3.1800

175 132 4 1484 280M 95.6 88.0 411.8 238.4 86.68 180 2876 1665 230 7.6100
6 988 315S 95.4 85.0 427.2 247.3 130.2 200 3000 1737 240 17.880

2 2980 315S 95.6 90.6 454.3 263.0 49.05 200 3859 2234 250 5.2000

200 150 4 1484 315S 95.8 87.5 469.6 271.9 98.50 180 3800 2200 230 11.460
6 988 315M 95.6 81.6 504.4 292.0 147.9 170 3263 1889 250 20.820

2 2980 3158 95.6 91.0 482.7 2094 52 200 3716 2152 250 6.8500

215 160 4 1485 315S 95.8 88.0 498.1 288.4 105.0 180 3487 2019 230 14.160
6 988 315M 95.6 85.0 516.7 299.2 157.8 170 3636 2105 250 23.630

2 2980 315M 95.8 91.0 556.9 322.4 60.50 200 4074 2359 250 8.0600

250 185 4 1485 315M 96.0 88.0 574.7 332.7 121.4 180 3720 2154 230 17.250
6 988 315L 95.8 85.0 596.2 345.2 182.5 170 3539 2049 230 26.590

2 2980 315M 95.8 91.5 598.8 346.7 65.40 200 4611 2669 250 10.490

270 200 4 1485 315M 96.0 88.0 621.3 359.7 131.2 180 4353 2520 230 20.190
6 988 315L 95.8 86.0 637.1 368.8 197.3 170 4545 2632 250 29.190

300 220 2 2980 315L 95.8 91.0 662.3 383.4 71.94 140 4059 2350 240 12.190
4 1485 315L 96.0 86.0 699.3 404.9 144.4 200 5091 2947 260 22.190

5f (Note) ! 1. 45142 7Z& %K IEC34 (Examination method according to IEC34)
U EHMEERESE, WASITEA o (All data is subject to change without prior notification.)

FUKUTA



IET

Output
Frame

1/4 0.185
1/2 0.37
1 0.75
2 1.5
3 2.2
5 8.1
7.5 5.5
10 7%

Output
Frame

1/4 0.185
1/2 0.37
1 0.75
2 1.5
3 2.2
5) BN/
7.5 5.5
10 [25]

oA NOBANMNOOBRNOBANOOOBRNMOODANOODRANDOO D

DB NOBABNDDBENOOBAENDDBENDDAENDDDAN D

%5 14 ¥ Character List

KERIXERE

3515
1650
1130
3370
1690
1130
3450
1730
1140
3460
1730
1140
3480
1740
1130
3450
1745
1150
3490
1770
1150
3510
1770
1180

2910
1425
950
2870
1435
942
2820
1425
960
2810
1435
935
2840
1440
950
2900
1440
967
2937
1450
970
2930
1468
980

No Efficiency
%

63
63
71
71
71
80
80
80
90L
90L
90L
100L
90L
100L
112M
112M
112M
132S
132S
1328
132M
1328
132M
160M

63
63
71
71
71
80
80
80
90L
90L
90L
100L
90L
100L
112M
112M
112M
1328
1325
1328
132M
132S
132M
160M

62.0
66.0
52.5
70.0
70.0
62.0
76.0
84.7
77.0
81.5
81.5
84.0
82.5
83.0
78.5
84.5
85.0
85.5
86.5
87.5
87.5
87.5
87.5
87.5

No Efficiency Power
%
52.8 80.0

57.0
45.5
63.9
66.0
59.7
72.1
72.1
70.0
7.2
7.2
75.2
79.7
79.7
7.7
83.1
83.1
81.4
84.7
84.7
83.1
86.0
86.0
84.7

Aluminum Frame

Full Load Character

Power
Factor %
74.0 0.6
65.0 1.1 0.7
76.0 1.2 0.7
71.9 1.9 1.1
78.0 1.8 1.0
73.1 2.1 1.2
90.0 2.9 1.7
80.5 2.9 1.7
64.0 4.0 2.3
91.0 5.3 3.1
76.0 6.4 3.7
71.0 6.6 3.8
86.0 8.14 4.7
82.1 8.47 4.9
79.2 9.29 5.4
90.0 12.8 7.4
84.8 13.5 7.8
77.5 14.7 8.5
85.0 19.6 11.4
83.0 19.9 11.5
77.5 21.3 12.3
93.0 24.2 14.0
84.0 26.8 15.5
80.0 28.1 16.3

Full Load Character

68.5
88.0
80.0
76.1
77.6
87.0
80.0
70.0
89.0
85.0
80.0
88.5
85.0
80.3
92.0
82.7
82.0
90.0
84.0
82.5
93.0
84.1
78.5

Factor % 220V 380V
1.1 0.7

1.2
1.2
1.9
1.9
21
3.1
3.4
4.0
5.1
6.0
6.5
8.2
8.5
9.3
12.7
14.1
14.5
18.9
20.3
21.1
24.6
27.2
29.6

5F (Note): 1. 5¥MAZEMIEC34 (Examination method according to IEC34)
RHE 78 © (All data is subject to change without prior notification.)

LUEHEEFEE, BT

0.7
0.7
1.1
1.1
1.2
1.8
2.0
2.3
3.3
3.5
3.8
4.7
4.9
5.4
7.4
8.2
8.4
11.0
11.7
12.2
14.2
15.8
17.1

Torque orque
kg-m %

0.062
0.127
0.190
0.126
0.251
0.383
0.259
0.513
0.761
0.520
1.019
1.563
0.755
1.489
2.257
1.243
2.504
3.729
1.825
3.696
5.525
2.494
4.979
7.458

110
110
110
160
160
160
200
200
200

Starting Character
Torque

220
260
250
200
200
220
250
190
250
220
180
250
210
180
240
220
180
210
220
200
200
220
270

9 5

9 5

9 5

12 7

12 7

12 7

19 11
19 11
19 11
40 23
40 23
40 23
67 39
67 39
67 39
109 63
109 63
109 63
161 93
161 93
161 93
200 116
200 116
200 116

250
240
270
260
230
230
280
280
230
280
280
220
280
260
230
320
290
230
260
280
230
250
250
300

0.0020
0.0020
0.0040
0.0020
0.0040
0.0065
0.0051
0.0092
0.0172
0.0065
0.0180
0.0380
0.0110
0.0200
0.0580
0.0260
0.0445
0.1420
0.0520
0.1120
0.1190
0.0680
0.1450
0.4150

50Hz

Inertia

kg-m?

0.0020
0.0020
0.0040
0.0020
0.0040
0.0065
0.0051
0.0092
0.0172
0.0065
0.0180
0.0380
0.0110
0.0200
0.0580
0.0260
0.0445
0.1420
0.0520
0.1120
0.1190
0.0680
0.1450
0.4150




€3

No Efficiency Power

7.5

10

EEaR
2

1

7.5
10

5% (Note): 1. 454 A#Z= K IEC34 (Examination method according to IEC34)
H e (All data is subject to change without prior notification.)

Output

2

0.75 4
6

2

1.5 4
6

2

2.2 4
6

2

3.7 4
6

2

5.5 4
7.5 2
Output

0.75

1.9

2.2

3.7

5.5

IS

N B NOOBEBNOODBENOO AN D

%5 14 ¥ Character List

3530
1750
1145
3500
1750
1165
3500
1770
1160
3540
1760
1165
3550
1770
3550

2860
1440
940
2879
1450
965
2845
1460
960
2930
1465
965
2940
1460
2950

2 U EHEEREE R

Frame

80
80
90L
90L
90L
100L
90L
100L
112M
112M
112M
132S
1328
132s
1328

Frame

No Efficiency
%

80
80
90L
90L
90L
100L
90L
100L
112M
112M
112M
1328
1325
1325
1328

==

NFAT

77.0
85.5
82.5
85.5
86.5
88.5
86.5
89.5
89.5
88.5
89.5
89.5
89.5
91.7
90.2

80.7
82.5
78.9
84.2
85.3
82.5
85.9
86.7
84.3
88.1
88.6
86.8
89.2
89.6
90.1

Full Load Character

82.4
74.4
69.6
84.3
78.5
68.6
85.6
7.3
72.2
92.0
87.5
78.7
86.0
84.8
89.5

220V
3.10 1.80
3.09 1.79
3.43 1.98
5.46 3.16
5.80 3.36
6.48 SNIS
7.80 4.51
8.35 4.83
8.93 5.17
11.9 6.90
12.4 7.18
13.8 7.98
18.8 10.9
18.6 10.7
24.4 14.1

Full Load Character

Power
Factor %
87.9 2.77 1.61
76.6 3.11 1.80
70.6 3.53 2.05
87.4 5.35 3.10
80.9 5.70 3.30
70.2 6.80 3.94
87.6 7.67 4.44
75.6 8.81 5.10
72.5 9.45 5.47
91.3 12.1 6.99
82.9 13.2 7.65
76.6 14.6 8.45
87.3 18.5 10.7
80.2 20.1 11.6
91.0 24.0 13.9

HaRIKE R EERE Aluminum Frame

0.256
0.508
0.778
0.508
1.008
1,315
0.754
1.468
2.233
1.231
2.461
3.736
1.823
3.671
2.478

245

Torque Torque
m %
330

315
200
340
320
175
330
300
175
290
235
200
230
240
270

26
20
46
51
44
70
75
57

120

110

105

140

160

200

15
15
12
27
30
25
41
43
33
69
64
61
81
93
116

Starting Character
Torque

Current Amp. o

°
24 14 390
24 14 375
19 11 235
41 24 360
47 27 360
41 24 250
64 37 355
69 40 325
55 32 265
109 63 345
109 63 305
100 58 275
138 80 290
145 84 295
190 110 300

0.0071
0.0120
0.0192
0.0130
0.0200
0.0600
0.0151
0.0445
0.0807
0.0470
0.0740
0.1440
0.0540
0.1140
0.0700

50Hz

Inertia

0.0071
0.0120
0.0192
0.0130
0.0200
0.0600
0.0151
0.0445
0.0807
0.0470
0.0740
0.1440
0.0540
0.1140
0.0700



SHEEAEEH T

T IE3

Self-ventilated Induction Motor
» Foot Mounted

[0} (AD)

(A0)

Fig.1

Specifications ¥ 1& B3 Dimensions R 3+

put (HP)
Frame | Fig M | a8 | ac | ap | ae BB
63 1 100 28 120 141 117 94

nn
1/4 1/4 — —

80 100 40 63 8 134
1/2 1/2 1/4 — 71 1 112 375 138 163.5 129 107 90 119 45 71 11 152
1 1 1/2 1/4 80 1 125 38 155 175 138 1145 100 130 50 80 9 168
2,3 2 1 1/2 90L 1 140 355 170 201 151 129 125 150 56 90 10 190
— 3 2 1 100L 2 160 45 196 218.5 173 144 140 175 63 100 12,5 241
5 5 3 2 112M 2 190 45 224 236 181 153 140 175 70 112 14 265
7.5,10 7.5 5 3 1328 2 216 46 254 273 213 176 140 175 89 132 16 310
— 10 7.5 5 132M 2 216 46 254 273 213 176 178 213 89 132 16 310
15, 20 15 10 7.5 160M 3 254 75 300 334 245 2075 210 256 108 160 18 373
25 20 15 10 160L 3 254 75 300 334 245 207.5 254 300 108 160 18 373
30 25, 30 20 15 180M 3 279 80 355 381 293 240.5 241 297 121 180 20 417
40 40 25,30 20 180L 3 279 80 355 381 293 2405 279 335 121 180 20 417
50,60 — — — 200L 3 318 80 398 423 319 268 305 350 133 200 24 466
— 50,60 40,50 25,30 200L 3 318 80 398 423 319 268 305 350 133 200 24 466
75 — — — 2258 3 356 945 453 473 3905 321 286 354 149 225 30 5265
— 75 60 40 2258 3 356 945 453 473 390.5 321 286 354 149 225 30 526.5
100 — — — 2508 4 406 104 501 526  468.5 379 311 425 168 250 37 589.5
— 100 75 50 2508 4 406 104 501 526  468.5 379 311 425 168 250 37 589.5
125 — — — 250M 4 406 104 501 526 4685 379 349 425 168 250 37 589.5
— 125 100 60 250M 4 406 104 501 526 4685 379 349 425 168 250 37 589.5
150 — — — 2805 5 457 110 560 637 544 434 368 445 190 280 36 705
— 150 125 75 280S 5 457 110 560 637 544 434 368 445 190 280 36 705
175 — — — 280M 5 457 110 560 637 544 434 419 496 190 280 36 705
— 175 150 100 280M 5 457 110 560 637 544 434 419 496 190 280 36 705
200~ 215 — — — 3155 5 508 115 615 632 544 434 406 490 2155 315 40 7405
— 200215 175~ 200 125 3155 5 508 115 615 632 544 434 406 490 2155 315 40 7405
250 ~ 270 — — — 315M 5 508 115 615 632 544 434 457 540 2155 315 40 7405
— 250,270 215 150 315M 5 508 115 615 632 544 434 457 540 2155 315 40 7405
300 — — — 315L 5 508 115 615 632 544 434 457 667 2155 315 40 743
— 300 250270 — 315L 5 508 115 615 632 544 434 457 667 2155 315 40 743

= Remark: 1.Tolerance of Shaft End Diameter “D” : @11~ @28:j6 @38~ @48: k6 @55~ @95: m6
2.Tolerance of Shaft Center Height “H” :+0 ~ — 0.5 280S~315L 7 H” :+0~ — 1
FUKUTA  3IELREABIMEEEA ° IE1 Spec. is limited for oversea sales market.



w a0y an

“0)

0

ol
Lﬁ ® [T T I
[£5) ] | ap® ||| Bi0.5(5) | | ¢
A£0.5 (LEY () B+0.5 )
(AB) (BB)

u_J
JJ
B
TN

({0}
()

NP

Fig.4

L D) w D)

0
USABLE SHAFT LENGTH €0}

(HD)
)

== . 3
TIE ni: %78 TSR LR

(1%

(IE)
9
©
[}

(AB) (\\)‘

Asl
10K (AB)

AN EEEE
29 7 22 221 78 11 23 18 -

!.
4 8.5 9 -

0Kk B @y B ,
‘ B#0.5 (BB)

12.5 M4*10 620127 620177

42.5 7 22 240 75 14 30 25 - 5) 11 16 M5*12.5 620277 620277 11 -
44 10 22 273 83 19 40 35 - 6 15.5 21.5 M6*16 620427 620327 15 18
54 10 22 875 94 24 50 45 — 8 20 27 M8*19 620577 6204772 22 26
60 12 28 367 104 28 60 55 - 8 24 31 M10*22 620627 620527 30 39
75 12 28 388 118 28 60 55 = 8 24 31 M10*22 630627 630527 40 47
73 12 35 448 139 38 80 75 - 10 33 41 M12*28 630827 6306272 60 68
73 12 33 486 139 38 80 75 = 10 33 41 M12*28 630877 630677 70 75
88 14.5 35 612 184 42 110 105 - 12 37 45 M16*36 630977/ C3(2P) 6307ZZ/C3(2P) 115 124
88 14.5 35 656 184 42 110 105 = 12 37 45 M16*36 630977/ C3(2P) 6307ZZ/C3(2P) 135 146
95 14.5 52 669.5 198 48 110 105 - 14 42.5 51.5 M16*36 6311727 C3 631027 C3 167/177 184/194
95 14.5 52 707.5 197.5 55 110 105 — 16 49 59 M20*42 631277 C3 631077 C3 207 214
114 18.5 65 773 225 55 110 105 - 16 49 59 M20*42 631327 C3 621277 C3 282/300 302/320
114 18.5 65 803 225 60 140 135 = 18 53 64 M20*42 631327 C3 621277 C3 282/300 302/320
152 18.5 92 781 236 55 110 105 — 16 49 59 M20*42 6315727 C3 621377 C3 358 365
152 18.5 92 811 236 65 140 135 = 18 58 69 M20*42 631577 C3 621377 C3 358 365
155 24 92 882.5 293.5 55 110 105 — 16 49 59 M20*42 631627 C3 6313727 C3 510 530
155 24 92 912.5 293.5 75 140 135 = 20 67.5 79.5 M20*42 631627 C3 631377 C3 510 530
155 24 92 882.5 255.5 55 110 105 — 16 49 59 M20*42 631627 C3 6313727 C3 549 567
155 24 92 912.5 255,39 75 140 135 — 20 67.5 25 M20*42 631627 C3 6313272 C3 549 567
94 24 - 1043.5 375.5 55 110 80 104 16 49 59 — 6316 C3 6316 C3 792 820
94 24 - 1103.5 BI{585 85 170 140 165 22 76 90 = 6320 C3 6316 C3 792 820
94 24 - 1093.5 374.5 55 110 80 104 16 49 59 — 6316 C3 6316 C3 850 878
94 24 — 11535 374.5 85 170 140 165 22 76 90 = 6320 C3 6316 C3 850 878
129 28 - 1132.5 401 55 110 80 104 16 49 59 - 6316 C3 6316 C3 1050 1090
129 28 - 1192.5 401 95 170 140 167.5 25 86 100 = 6320 C3 6316 C3 1050 1090
129 28 - 1183.5 401 55 110 90 104 16 49 59 — 6316 C3 6316 C3 1100 1140
129 28 — 1243.5 401 95 170 140 167.5 25 86 100 = 6320 C3 6316 C3 1100 1140
129 28 — 1548.5 397 55 110 90 104 16 49 59 — 6316 C3 6316 C3 1660 1700
129 28 = 1608.5 397 95 170 140 167.5 25 86 100 - 6320 C3 6316 C3 1660 1700

"HRHERSENE, FERERBERRNEES , ZRBRFHITEN
All data is sebject to change without prior notification.

FUKUTA



BIEH T

1 IE3

Self-ventilated Induction Motor

» Flange Mounted

Specifications # #&

[}

@0

[

aB

1 Holes S

2.Tolerance of Guidance Diameter

1/4 1/4
1/2 1/2
1 1
2,3 2
- 3
5 5
7.5,10 7.5
= 10

15, 20 15
25 20

30 25,30
40 40

50,60 -
= 50,60
75 —
= 75
100 —
— 100
125 —
— 125
150 —
= 150
175 —
— 175

200 ~ 215 -
— 200 ~ 215

250 ~ 270 —
— 250 ~ 270

300 -

= 300

= Remark:

FUKUTA

1/4
1/2

e85
10
15
20
25,30

40,50

60

75

125

150

175~ 200

215

250~ 270

25,30

40

50

60

75

100

125

150

100L
112M
132s
132M
160M
160L
180M
180L
200L
200L
225S
225S
250S
250S
250M
250M

280S
280S

280M
280M
315S
BII5S]
315M
315M
315L

315L

A DA A W owWwN

o o o o »u o u»u s

(o))

AC

142
162
175
196
219
234
268
268
319
319
355
855)
399
899
448.2
448.2
498.1
498.1
498.1
498.1

605
605

605
605
874
874
874
874
874

874

120
133
138
155
170

214
214
246
246
300
300
320
320
372
372
455.7
455.7
455.7
455.7

544
544

544
544
544
544
544
544
544

544

AE

94

119
132
144
154
176
176
208
208
244
244
263

303
303
366.5
366.5
366.5
366.5

434
434
434
434
434
434
434
434
434

434

141.5

425
425

425

425

434

434

434
434

434

3.E1 BRI 2 IMEER o IEL Spec. is limited for oversea sales market.

[

4 fioles-S

Iy,

e

m

@0

(€]
1
n

Fig.1

bl T

=2

4 lioles-S

00

)

J

22
22
28
28
35
85
35
85
52
52
65
65
92
92
92
92
92
92

1.Tolerance of Shaft End Diameter “D” : @11~ @28: 6 @38~ @48: k6 @55~ @60: m6
“N” :h7

669.5
707.5

882.5
912.5
882.5
912.5

1089.5
1149.4

1089.5
1149.4
1128.5
1188.5
1179.5
1239.5

1306.5
1366.5

11
16
15
19
19
20
20
20
20
20
20
22
22
22
22
22
22

25

25

25

5

25

25

25

25
25

25

406
502
546
559.5
597.5
657
663
671
671
772.5
772.5
772.5
772.5

979.5

979.5

979.5

G105

1018.5

1018.5

1069.5

1069.5

1196.5

1196.5

-

D

36
74
48
106
71
118
88
106
128.5
151
151.5
170.5
163

190
190
216

216
216

232
232
232
232
251
251
277
277
340

340

z/

130
130
165
165
215
215
265
265
300
300
350
350
400
400
500
500
500
500
500
500

600

600

600

600

600

600

600

600

600

600




110
130
130
180
180
230
230
250
250
300
300
350
350
450
450
450
450
450
450
550

550

550

550

550

550

500

550

550

550

sERNHERSERE, AEREREUERBNEEE , ARTRKF

(ap)

(LB) E (AE) 4 Holes-S
(LD) T
=l || p X
i KK &
(- §§§§§§§§§§§§EE:
Fig.4 —
(L) (AD)
(LB) - 'T E 8 loles-S
@ ]
N = = [
g E%(T § 1 .
: L[ i

B5 Dimensions R <+

160 10
200 12
200 12
250 15
250 15
300 15
300 15
350 19
350 19
400 19
400 19
450 19
450 19
550 185
550 185
550 185
550 185
550 185
550 185
660 24
660 24
660 24
660 24
660 24
660 24
660 24
660 24
660 24
660 24

. -
110 160 10 3

3.5
3.5
3.5
3.5
4

[ S

14
19
24
28
28
38
38
4
4
48
55
55
60
55
65
55
75
55
75
55
85
55
85
55
95
55
95
55

95

30
40
50
60
60
80
80
110
110
110
110
110
140
110
140
110
140
110
140
110

157

110

157

110

170

110

170

110

170

11 23 18

25
35
45
55
55
75
75
105
105
105
105
105
135
105
135
105
135
105
135
80

140
80
140
80
140
80
140
80

140

Shaft End

All data is sebject to change without prior notification.

(B)

(HB)

W0AC)

an [T

TR

H
|

[
L

E

(LB)

USABLE. SHAFT
LENGTI

(HB)

0AC

8 loles-S

8 Holes-S

. :a«
&

Fig.7

Shaft i 77 8 R ~F

Bearings

154

-

Flange mounted

8.5 12.5

4 M4*10 620127 620127 9 -
= 5 11 16 M5*12.5 620277 620277 11 =
- 6 155 215 M6*16 620427 620327 16 19
= 8 20 27 M8*19 620527 620427 25 29
- 8 24 31 M10*22 620627 620527 33 42
- 8 24 31 M10*22 630627 620622 45 52
- 10 33 41 M12*28 630827 620722 65 73
- 10 33 41 M12*28 630822 620827 75 80
- 12 37 45 M16*36 630927 620927 120 129
- 12 37 45 M16*36 630927 621022 140 149
- 14 42.5 515 M16*36 631177 621127 172/177  192/197
- 16 49 59 M20*42 631277 621277 217 224
- 16 49 59 M20*42 631377 621377 282/290  302/320
- 18 53 64 M20*42 631322 621477 282/290  302/320
- 16 49 59 M20*42 631527 C3 621577 C3 390 420
= 18 58 69 M20*42 631527 621577 390 420
- 16 49 59 M20*42 631677 C3 621677 C3 525 530
- 20 67.5 79.5 M20*42 631627 621677 525 530
- 16 49 59 M20*42 631627 C3 621727 C3 560 565
- 20 67.5 79.5 M20*42 631627 621777 560 565
104 16 49 59 - 6316 C3 6316 C3 785 813
165 22 76 90 - 6320 C3 6316 C3 785 813
104 16 49 59 - 6316 C3 6316 C3 850 878
165 2 76 90 - 6320 C3 6316 C3 850 878
104 16 49 59 - 6316 C3 6316 C3 980 1020

167.5 25 86 100 - 6320 C3 6316 C3 980 1020
104 16 49 59 - 6316 C3 6316 C3 1030 1070
167.5 25 86 100 — 6320 C3 6316 C3 1030 1070
104 16 49 59 - 6316 C3 6316 C3 1520 1560
167.5 25 86 100 - 6320 C3 6316 C3 1520 1560
BITEA
FUKUTA



D BAst

AEEK(G)Z!/AEEK(D)Z!

IE1

IE3

Inverter Motor,
[ron-casting Frame

» Foot Mounted

(AD)

(HA)

1/2 1/2 1/4 = 71 1 112 37.5

1 1 1/2 1/4 80 1 125 38
2,3 2 1 1/2 90L 1 140 35.5

- 3 2 1 100L 2 160 45

5 5 3 2 112M 2 190 45
7.5,10 7.5 5 3 132S 2 216 46
= 10 7.5 5 132M 2 216 46
15,20 15 10 7.5 160M 3 254 75
25 20 15 10 160L 3 254 75

30 25, 30 20 15 180M 3 279 80

40 40 25, 30 20 180L 3 279 80
50,60 - - - 200L 3 318 80
— 50,60 40,50 25,30 200L 3 318 80

75 - — - 225S 4 356 94.5
= 75 60 40 225S 4 356 94.5

100 - — - 250S 5 406 104

- 100 75 50 2508 5 406 104

125 - — - 250M 5 406 104

= 125 100 60 250M 5 406 104

150 — - - 280S 6 457 110

= 150 125 75 280S 6 457 110

175 - - - 280M 6 457 119

= 175 150 100 280M 6 457 110
200~ 215 - — - 315S 6 508 115
- 200,215 175~200 125 315S 6 508 115
250~ 270 - — - 315M 6 508 115
— 250,270 215 150 315M 6 508 115
300 - - - 315L 6 508 115

= 300 250 ~ 270 - 315L 6 508 115

= Remark: l.Tolerance of Shaft End Diameter

2.Tolerance of Shaft Center Height “H”

138

170

453
453

—

(HD)

(AC)

218.5

390.5
390.5
468.5
468.5
468.5
468.5
544
544
544
544
544
544
544
544
544
544

" H 0~ — 1

144
155
176
176

207.5

207.5

240.5

240.5

434
434
434
434
434
434
434
434
434

“D” : @11~ 028: j6 @38~ @ 48: k6 @55~ @95: m6
+0 ~ — 0.5280S~315

311
31l

349
368
368
419
419

406
457
457
457

457

121
121
133
133
149

168
168
168
168
190
190
190
190
215.5
215.5
215.5
215.5
215.5
23585

(AE)

A£0.5
(AB)

(A4)

100

315
Bill5
315
313
315
35

12.5
14
16
16
18
18
20
20
24
24
30
30
37
37
37
37
36
36
36
36
40
40
40
40
40
40

466
526.5
526.5
584.5
584.5
584.5
584.5
705
705
705
705
740.5
740.5
740.5
740.5
740.5
740.5

(HA)




(AD)

(AD)
w Ol ) ‘ (AC)
‘an o : ) : i -%‘ = o . i
— — N _ ED = /%
| IR = — 2 (7/ H-—t l oI e a )
=T i _— A A
=== *lg S AE =] iEl (AR Sls
AN i Ik Tir < Ll miim I il
(LE) 8105 c (LE)(S) B+0.5(S) c KK (1) \ (A)
(8B) (LE)(M) B+0.5(M) *ﬂﬂt‘k 6— oK A+0.5
(BB) g@ - (AB)
)
DH Tap
(AD)
L (AC) )
(L (AC)
@ : :
: nh c
ﬁﬁﬁ =[N
&= m E ; (® i
e - 2 g
T = - Lﬁ I =
Jeht T
. T —— T = F ~
(Le) c T ek @ | | . .

B+0.5 Ve | S —
(88) éT’ 40K A£0.5 (3 | s || e
(AB) (8B)

Fig.6

Dimensions R Shaft IN

Shat End
29 7 22 323 180 11 23 18 - 4 8.5 12.5 M4*10 6201727 620127 9 -
42.5 7 22 314 149 14 30 25 = 5) 11 16 M5*12.5 620277 620277 11 =
44 10 22 378 188 19 40 35 - 6 155 215 M6*16 620477 6203727 15 20
54 10 22 435 204 24 50 45 = 8 20 27 M8*19 620522 620427 22 26
62 12 28 467 204 28 60 55 - 8 24 31 M10*22 620622 620522 30 40
76 12 28 482.5 212.5 28 60 55 = 8 24 31 M10*22 630622 630522 40 47
73 12 35 531 222 38 80 75 - 10 33 41 M12*28 630877 630627 60 72
76 12 35 569 222 38 80 75 = 10 33 41 M12*28 630822 630622 70 82
88 145 35 738 310 42 110 105 - 12 37 45 M16*36  6309ZZ/C3(2P) 6307ZZ/C3(2P) 119 128
91 145 35 782 310 42 110 105 = 12 37 45 M16*36  6309ZZ/C3(2P) 6307ZZ/C3(2P) 139 150
95 145 52 777 305 48 110 105 - 14 42,5 515 M16*36 631177 C3 6310Zz C3  172/180 188/198
95 145 52 815 305 55 110 105 = 16 49 59 M20*42 631277 C3 631077 C3 210 218
114 18.5 65 857 309 55 110 105 - 16 49 59 M20*42 631377 C3 621277 C3  286/304 308/328
114 18.5 65 887 309 60 140 135 = 18 53 64 M20*42 631377 C3 621277 C3  286/304 308/328
152 185 92 985.5 410.5 55 110 105 - 16 49 59 M20*42 631577 C3 621377C3 366 412
152 185 92 985.5 410.5 65 140 135 = 18 58 69 M20*42 631577 C3 621377C3 366 412
155 24 92 1099.5 480.5 55 110 105 - 16 49 59 M20*42 631677 C3 63137ZC3 520 540
155 24 92 1099.5 480.5 75 140 135 - 20 67.5  79.5 M20*42 631677 C3 63137ZC3 520 540
155 24 92 1099.5 442.5 55 110 105 - 16 49 59 M20*42 631677 C3 631377C3 552 570
155 24 92 1099.5 4425 75 140 135 = 20 67.5 79.5 M20*42 631677 C3 63137ZC3 552 570
94 24 - 1425.5 755.5 55 110 80 104 16 49 59 - 6316 C3 6316 C3 865 893
94 24 = 1485.5 755.5 85 170 140 165 22 76 90 = 6320 C3 6316 C3 865 893
94 24 - 1479.5 760.5 55 110 80 104 16 49 59 - 6316 C3 6316 C3 925 953
94 24 = 1539.5 760.5 85 170 140 165 22 76 90 = 6320 C3 6316 C3 925 953
129 28 - 1514.5 783 55 110 80 104 16 49 59 - 6316 C3 6316 C3 1250 1290
129 28 = 1574.5 783 95 170 140 1675 25 86 100 = 6320 C3 6316 C3 1250 1290
129 28 - 1565.5 783 55 110 80 104 16 49 59 - 6316 C3 6316 C3 1550 1590
129 28 = 1625.5 783 95 170 140 1675 25 86 100 = 6320 C3 6316 C3 1550 1590
129 28 - 1692.5 783 55 110 80 104 16 49 59 - 6316 C3 6316 C3 1812 1852
129 28 = 1752.5 783 95 170 140 1675 25 86 100 = 6320 C3 6316 C3 1812 1852
sHRHERSENRE, RHRERBERRNEES , ARBRFHTEN
All data is sebject to change without prior notification.
FUKUTA



INVERTER MOTOR

G,D i3t

AEVK(G)ZE!/AEVK(D)Z!

IE1 IE3

Inverter Motor,
Iron-casting Frame

» Flange Mounted

L (AD)

(LB) £ (AC) <(L>> <(AD))
[ £ AC
- (LD) T
4—Holes—S
O#é - 4—Holes—S
2 = \ oé' i =
&%
o 1 Il .. y Jl a8l
K H J \K & U 2 UJQ%U =
e e = =
— f OKK o)
= =
LA
LA o L]
Fig.1 Fig.2

ut (HP)
e DR EEEERER R R
1/4 1/4 — — 63 1 142 126 92 - 22 323 12 300 34 130
1/2 1/2 1/4 — 71 2 162 137 105 - 22 342 11.5 312 71 130
1 1 1/2 1/4 80 1 175 145 113 - 22 377.5 10 337.5 51 165
2,3 2 1 1/2 90L 2 196 153 127 — 22 474 11 424 100 165
— 3 2 1 100L 1 219 171 143.5 141.5 28 468.5 16 408.5 74 215
5 5 3 2 112M 2 234 179.5 153 152.5 28 522.5 15 462.5 121 215
7.5,10 7.5 5 3 1328 3 268 214 175.5 178 35 531 19 451 71 265
— 10 7.5 5 132M 3 268 214 175.5 178 35 569 19 489 90 265
15,20 15 10 7.5 160M 3 317 246 207 215 35 738 20 628 125 300
25 20 15 10 160L 3 317 246 207 215 35 782 20 672 147 300
30 25,30 20 15 180M 3 353 299 244 239 52 776.5 20 666.5 142 350
40 40 25,30 20 180L 3 353 299 244 239 52 814.5 20 704.5 161 350
50,60 — — — 200L 3 397 330 270 264 65 857 20 747 169 400
- 50,60 40,50 25,30 200L 3 397 330 270 264 65 887 20 747 169 400
75 - - - 2258 4 448.2 372 303 301.5 92 985.5 22 845.5 190 500
_ 75 60 40 225S 4 448.2 372 303 301.5 92 985.5 22 845.5 190 500
100 — _ — 250S 4 498.1 456 350 323.6 92 1099.5 22 959.5 182.5 500
- 100 75 50 250S 4 498.1 456 350 323.6 92 1099.5 22 959.5 182.5 500
125 _ _ — 250M 4 498.1 456 350 323.6 92 1099.5 22 959.5 182.5 500
= 125 100 60 250M 4 498.1 456 350 323.6 92 1099.5 22 959.5 182.5 500
150 - - - 280S 5 611 544 434 426 - 1475.5 25 1365.5 232 600
— 150 125 75 280S 5 611 544 434 426 - 1535.5 25 1365.5 232 600
175 — _ — 280M 5 611 544 434 426 - 1475.5 25 1365.5 232 600
- 175 150 100 280M 5 611 544 434 426 — 1535.5 25 1365.5 232 600
200 ~ 215 -- -- -- 315S 5 611 544 434 434 — 1514.5 25 1404.5 251 600
— 200215 175+~200 125 315S 5 611 544 434 434 — 1574.5 25 1404.5 251 600
250~ 270 — — — 315M 5 611 544 434 434 — 1565.5 25 1455.5 277 600
— 250 ~ 270 215 150 315M 5 611 544 434 434 — 1625.5 25 1455.5 277 600
300 — — — 315L 5 611 544 434 434 — 1692.5 25 15825 340 600
— 300 250270 — 315L 5 611 544 434 434 — 1752.5 25 1582.5 340 600

= Remark: 1.Tolerance of Shaft End Diameter “D” : @11~ @28:j6 @38~ @48: k6 @55~ @60: m6
FUKUTA 2.Tolerance of Guidance Diameter “N” :h7



4—Holes—S

(2AC)

Fig.3
® (x0) o ()
(LB) E E )
T s et oo
- 8—Holes—S (2) T 8—Holes—S

(9AC)
s
|
BN
oP

!
]

o
I3
S

Fig.4 - Fig.5

Shartend Flange mounied
S T
110 160 10 3

I I N NN T B T I
11 23 18 — _

4 8.5 12.5 M4*10 620127 620177 9

110 160 10 33 14 30 25 — 5 11 16 M5*12.5 620277 620277 12 —
130 200 12 3.5 19 40 35 — 6 15.5 21.5 M6*16 620427 620327 16 22
130 200 12 3.5 24 50 45 — 8 20 27 M8*19 620527 620427 25 31
180 250 15 3.5 28 60 55 — 8 24 31 M10*22 620627 620527 33 42
180 250 15 4 28 60 55 — 8 24 31 M10*22 630627 630522 45 53
230 300 15 4 38 80 75 — 10 33 41 M12*28 630827 630622 65 73
230 300 15 4 38 80 75 — 10 33 41 M12*28 630877 6306227 75 82
250 350 19 5 42 110 105 — 12 37 45 M16*36  6309ZZ/C3(2P)  6307ZZ/C3(2P) 124 130
250 350 19 5 42 110 105 — 12 37 45 M16*36  6309ZZ/C3(2P)  6307ZZ/C3(2P) 144 150
300 400 19 5 48 110 105 — 14 42.5 51.5 M16*36 631127 C3 6310ZZ C3 175/180  207/212
300 400 19 5 55 110 105 — 16 49 59 M20*42 631277 C3 6310ZZ C3 220 228
350 450 19 5 55 110 105 — 16 49 59 M20*42 63137z C3 621277 C3 286/304  308/328
350 450 19 5 60 140 135 — 18 53 64 M20*42 631377 C3 621277 C3 286/304  308/328
450 550 18.5 5 55 110 105 — 16 49 59 M20*42 63157ZC3 621377 C3 401 431
450 550 18.5 5 65 140 135 — 18 58 69 M20*42 63152ZC3 621377 C3 401 431
450 550 18.5 5 55 110 105 — 16 49 59 M20*42 63162ZC3 631322 C3 537 542
450 550 18.5 5 75 140 135 — 20 67.5 79.5 M20*42 631677C3 631322 C3 537 542
450 550 18.5 5 55 110 105 — 16 49 59 M20*42 63162ZC3 631322 C3 573 578
450 550 18.5 5 75 140 135 — 20 67.5 79.5 M20*42 63162ZC3 631372 C3 573 578
550 660 24 6 55 110 80 104 16 49 59 — 6316 C3 6316 C3 865 893
550 660 24 6 85 170 140 165 22 76 90 — 6320 C3 6316 C3 865 893
550 660 24 6 55 110 80 104 16 49 59 — 6316 C3 6316 C3 925 953
550 660 24 6 85 170 140 165 22 76 90 — 6320 C3 6316 C3 925 953
550 660 24 6 55 110 80 104 16 49 59 — 6316 C3 6316 C3 1180 1220
550 660 24 6 95 170 140 167.5 25 86 100 — 6320 C3 6316 C3 1180 1220
550 660 24 6 55 110 80 104 16 49 59 — 6316 C3 6316 C3 1480 1520
550 660 24 6 95 170 140 167.5 25 86 100 — 6320 C3 6316 C3 1480 1520
550 660 24 6 55 110 80 104 16 49 59 — 6316 C3 6316 C3 1672 1712
550 660 24 6 95 170 140 167.5 25 86 100 — 6320 C3 6316 C3 1672 1712

sHRHEMTENE KERERFERBNEES , KRR FSTEN
All data is sebject to change without prior notification. FUKUTA



T,V B\t

AEEK(T)Z!/AEEK(V)E!

IE3

IE1

Inverter Duty Motor,
Iron-casting Frame

» Foot Mounted

(AD)

(AC)

(Le)

Specifications #2 1&

Output (HP)

1/4
1/2 1/2 1/4 = 71 1 112 37.5
1 1 1/2 1/4 80 1 125 38
2,3 2 1 1/2 90L 1 140 35,9
— 3 2 1 100L 2 160 45
5) 5] 3 2 112M 2 190 45
7.5,10 7.5 5 3 1328 2 216 46
= 10 7.5 5 132M 2 216 46
15,20 15 10 7.5 160M 3 254 75
25 20 15 10 160L 3 254 75
30 25,30 20 15 180M 3 279 80
40 40 25,30 20 180L 3 279 80
50, 60 — — — 200L 3 318 80
— 50, 60 40, 50 25,30 200L 3 318 80
75 — — — 225S 4 356 94.5
— 75 60 40 225S 4 356 94.5
100 — — — 2508 5 406 104
= 100 75 50 250S 5 406 104
125 — — — 250M 5 406 104
— 125 100 60 250M 5 406 104
150 — — — 280S 6 457 110
— 150 125 75 280S 6 457 110
175 — — — 280M 6 457 110
= 175 150 100 280M 6 457 110
200~ 215 — — — 315S 6 508 115
— 200+~215 175~ 200 125 3158 6 508 115
250~ 270 — — — 315M 6 508 115
= 250 ~ 270 215 150 315M 6 508 115
300 — — — 315L 6 508 115
— 300 250 ~ 270 — 315L 6 508 115
FUKUTA * Remark: 1.Tolerance of Shaft End Diameter

138
155
170
196

224

254
254
300
300
355
B55)
398
398
453
453

D

(AD)

(AC)

(HD)

%WL

163.5
175
201

218.5
236
273
273
334
334

135
142
153
173
181
213
213
245
245
293
293
319
319

390.5

390.5

468.5

468.5

468.5

468.5
544
544
544

544
544
544
544

544
544

107
114.5
129
144
153
176
176
207.5
207.5
240.5
240.5
268
268
321
321
379
379
379
379
434
434
434

434
434
434
434

434
434

B3 Dimensions R

1/4 — — 63 1 100 28 120 141 128 94 80 100 40 63 8 139

90
100
125
140
140
140
178
210
254
241
279
305
305
286
286
311
311
349
349
368
368
419
419
406
406
457
457

457
457

“D” : @11~ @28:j6 @38~ B48: k6 @55~ @95: m6b
2.Tolerance of Shaft Center Height “H” :+0 ~ — 0.5280S~315L" H” :+0~ — 1

—7

119
130
150
175
175
175
213

540
540

667
667

(AE)

45
50
56
63
70
89
89
108
108
121
121

133
149
149
168
168
168
168
190
190
190
190
215.5
2155
215.5
215.5

215.5
2153

A+0.5
(4B)

71
80
90
100
112
132
132

11
9
10
125
14
16
16
18
18
20
20
24
24
30
30
37
37
37
37
36
36
36
36
40
40
40
40

40
40

(HA)

152
168
190
241

310
310
373
373
417
417

466
526.5
526.5
589.5
589.5
589.5
589.5

705
705

740.5
740.5
740.5
740.5

740.5
740.5




(AD)

AC (AD)
@0 [(8) (AC)

\\HM D
5 = ! l ! 2
= S)a ! )
= I e 2 = 1] z
5 bl )N} \; i) - 2 2
(LE) (LE)(S) ‘ B+0.5(S) c | oxx (AE) ‘ (An)
(LEY(M) B£0.5(M) “?Ef‘ 6—92K A+0.5
(88) gVE O[ =)
#D
(AD)
() (AC) (D) (AC)
L — =
= ED o,
" =S & ;
F’ﬂ ﬁﬁﬁ E z = @% =} 2 %
e = - - g N
T T — - Eﬂ z 6 .
) i 3 o 3
T Z >
(L6) ) #KK (AE) (An) =
e | o) | e e | £ (o)
(88) Ve 4-9K A£0.5 ‘ ‘ ‘
<T o <]7[ [ AL
&} o (AB) ' 3] ]
(~B)
() LD |
Fig.4 [or 109 Fig.6

--mﬂ--———

125 M4*10 620127 620127
27 7 22 393 228 14 30 25 - 5 11 16 M5%12.5 620277 620277 11 -
29 10 22 4145 2245 19 40 35 - 6 155 21.5 M6*16 620427 620322 15 20
39 10 22 465 234 24 50 45 - 8 20 27 M8*19 620527 620427 22 26
60 12 28 497 234 28 60 55 - 8 24 31 M10%22 620627 620527 30 40
75 12 28 522.5  252.5 28 60 55 - 8 24 31 M10%*22 630627 630527 40 47
73 12 35 621 312 38 80 75 - 10 33 41 M12%28 630822 630622 60 72
73 12 35 659 312 38 80 75 - 10 33 41 M12%28 630822 630622 70 82
88 14.5 35 768 340 42 10 105 — 12 37 45  M16*36  6309ZZ/C3(2P) 6307ZZ/C3(2P) 119 128
88 14.5 35 812 340 42 10 105 - 12 37 45  M16*36  630977Z/C3(2P) 63072Z/C3(2P) 139 150
95 14.5 52 807 335 48 110 105 @ — 14 425 515 M16*36 63112ZC3 6310ZZC3  172/180  188/198
95 14.5 52 845 335 55 10 105 - 16 49 59 M20*42 631277 C3 631077 C3 210 218
114 18.5 65 907 359 55 110 105  — 16 49 59 M20%*42 631327 C3 621277 C3  286/304  308/328
114 18.5 65 937 359 60 140 135 — 18 53 64  M20*42 631377 C3 621277 C3  286/304  308/328
152 18.5 92 985.5  410.5 55 10 105 — 16 49 59 M20%42 631527 C3 621327 C3 366 412
152 18.5 92 9855  410.5 65 140 135 — 18 58 69  M20%42 631577 C3 621377 C3 366 412
155 24 92 1099.5  480.5 55 10 105 - 16 49 59 M20*42 631627 C3 631327 C3 520 540
155 24 92 1099.5 4805 75 140 135  — 20 67.5 79.5  M20%*42 631677 C3 631377 C3 520 540
155 24 92 1099.5 4425 55 110 105 — 16 49 59 M20*42 631627 C3 631327 C3 552 570
155 24 92 1099.5 4425 75 140 135 - 20 67.5 79.5 M20%42 631627 C3 631327 C3 552 570
94 24 - 14205 7525 55 110 80 104 16 49 59 - 6316C3 6316C3 865 893
94 24 - 14805 7525 85 170 140 165 22 76 90 - 6320 C3 6316C3 865 893
94 24 - 14745 7555 55 110 80 104 16 49 59 - 6316C3 6316C3 925 953
94 24 - 15345 7555 85 170 140 165 22 76 90 - 6320 C3 6316C3 925 953
129 28 - 1514.5 783 55 110 80 104 16 49 59 - 6316C3 6316C3 1250 1290
129 28 - 1579.5 788 95 170 140 1675 25 86 100 - 6320 C3 6316C3 1250 1290
129 28 - 1565.5 783 55 110 80 104 16 49 59 - 6316C3 6316C3 1550 1590
129 28 - 1630.5 788 95 170 140 1675 25 86 100 - 6320 C3 6316C3 1550 1590
129 28 - 1692.5 783 55 110 80 104 16 49 59 - 6316C3 6316C3 1812 1852
129 28 - 17525 783 95 170 140 1675 25 86 100 - 6320 C3 6316C3 1812 1852

FERHERSERE, WERERBURBNEES , ARFRKFHTEM
All data is sebject to change without prior notification. FUKUTA



IE1

—
ALT

AEVK(T)Z!/AEVK(V)ZEL

IE3

Inverter Duty Motor,

Iron-casting Frame

» Flange Mounted

(AD)

(AC)

4—Holes—S

Output (HP)
(e | e [ | T

1/4 1/4 — — 63

1/2 1/2 1/4 = 71

1 1 1/2 1/4 80
2,3 2 1 1/2 90L
— 3 2 1 100L
5 5 3 2 112M
7.5, 10 7.5 5 3 132S
= 10 7.5 5 132M
15,20 15 10 7.5 160M
25 20 15 10 160L
30 25,30 20 15 180M
40 40 25,30 20 180L
50,60 — — — 200L
— 50, 60 40, 50 25, 30 200L
75 - - - 225S
= 75 60 40 2258
100 - — - 2508
= 100 75 50 2508
125 - — — 250M
= 125 100 60 250M
150 - - - 280S
= 150 125 75 280S
175 — — — 280M
= 175 150 100 280M
200 ~ 215 - — - 315S
= 200~ 215 175~200 125 315S
250~ 270 - — - 315M
- 250 ~ 270 215 150 315M
300 - - - 315L
= 300 250~ 270 = 315L

= Remark:
2.Tolerance of Guidance Diameter “N”
FUKUTA

(L) £
()] 1
o ® SE=H | o
— o
_ =
S —
2| irukua FUKUTA —= = 3%
— ||
A

Specifications # 1&

e

H
(@]

o U1 Lo OO OO OO L1 Ll Lkl Ll LA B DM D DD WWN RN RFRN -

142
162
175
196

234
268
268

317
353
353
397
397
448.2
448.2
498.1
498.1
498.1
498.1
611
611
611
611
611
611
611
611
611
611

126
137
145
153
171

179.5
214
214
246
246
299
299
330
330
372
372
456
456
456
456
544
544
544
544
544
544
544
544
544
544

[O)

(AD)

(LB)

(Ac)

(LD)

(8AC)

105
113
127

143.5
153

175.5

175.5
207
207
244
244
270
270
303
303
350
350
350
350
434
434
434
434
434
434
434
434
434
434

141.5

152.5
178
178
215
215

434

434
434
434
434

1.Tolerance of Shaft End Diameter “D” :011~028: |6 @ 38~@4 8: k6 @ 55~060:m6
th7

| Tm
| o
oN
oP

28
28
35
35
35
35
52
52
65
65
92
92
92
92
92
92

577.5
621
659

812
806.5
844.5

907

937
985.5
985.5

1099.5
1099.5
1099.5
1099.5
1475.5
1158585
1475.5
1535.5
1514.5
1574.5
1565.5
1625.5
1692.5
1752.5

V|

o

4—Holes—S

517.5
541
579
658
702

696.5

734.5
797
797

845.5

845.5

959.5

959.5

959.5

959.5

1365.5
1365.5
1365.5
1365.5
1404.5
1404.5
1455.5
1455.5
1582.5
1582.5

71
42

100
74

121
71
90

147
142
161

169
190
190
182.5
182.5
182.5
182.5
232

232
232
251

277
277
340
340

130
165
165
215
215
265
265
300
300
350

400
400
500
500
500
500
500
500
600
600
600
600
600
600
600
600
600
600




110
130
130
180
180
230
230
250
250
300
300
350
350
450
450
450
450
450
450
550
550
550
550

550
550

550
550
550
550

(#AC)

w

(AC)

160
200
200
250
250
300
300
350
350
400
400
450
450
550
550
550
550
550
550
660
660
660
660

660
660

660
660
660
660

Fig.4

.-
110 160 10

10
12
12
15
15
15
15
19
19
19
19
19
19

18.5

18.5

18.5

18.5

18.5

18.5
24
24
24
24

24
24

24
24
24
24

3
3.5

3.5
3.5

w
S L T I L T

11 23 18 —

14
19
24
28
28
38
38
4
4
48
55
55
60
55
65
55
75
55
75
55
85
55
85

55
95

55
95
55
95

30
40
50
60
60
80
80
110
110
110
110
110
140
110
140
110
140
110
140
110
170
110
170

110
170

110
170
110
170

25
35
45
55
55
75
75

105

105

105

105

105

135

105

135

105

135

105

135
80

140
80

140

80
140

80
140
80
140

104
165

104

104
167.5

104
167.5
104
167.5

4—Holes—S

8—Holes—S

(vAC)

(AD)

Shaft End

© W o o U N

10
12
12
14
16
16
18
16
18
16
20
16
20
16
22
16
22

16
25

16
25
16
25

CHRHERSERYE, AERERFERBNEEE , AR F5TEAN
All data is sebject to change without prior notification.

8.5
11
15.5
20
24
24
33
33
37
37
425
49
49
53
49
58
49
67.5
49
67.5
49
76
49
76
49
86
49
86
49
86

NN T A T T

125
16
215
27
31
31
41
41
45
45
51.5
59
59
64
59
69
59
79.5
59
79.5
59
90
59
90

59
100

59
100

59
100

M4*10
M5*12.5

M6*16

M8*19
M10*22
M10*22
M12*28
M12*28
M16*36
M16*36
M16*36
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42
M20*42

(AC)

Fig.5

8—Holes—S

Flange mounted

620127
620277
6204727
620527
620627
630627
630827
630827

6309ZZ/C3(2P) 63072Z/C3(2P
630927/C3(2P) 63072Z/C3(2P

631177 C3
631277 C3
6313ZZ C3
63137z C3
631577 C3
6315727 C3
631627 C3
631627 C3
631627 C3
631627 C3
6316 C3
6320 C3
6316 C3
6320 C3

6316 C3
6320 C3

6316 C3
6320 C3
6316 C3
6320 C3

620177
620227
620372
620427
620527
630522
63062
630622

631027
631022
621277
621277
621377
621377
631377
631377
631377
631327

C3
c3
c3

C3
c3

C3
C3
c3
3
C3

6316 C3
6316 C3
6316 C3
6316 C3

6316 C3
6316 C3

6316 C3
6316 C3
6316 C3
6316 C3

9
12 —
16 22
25 31
33 42
45 53
65 73
75 82
124 130
144 150
175/180  207/212
220 228
286/304  308/328
286/304  308/328
401 431
401 431
537 542
537 542
573 578
573 578
865 893
865 893
925 953
925 953
1180 1220
1180 1220
1480 1520
1480 1520
1672 1712
1672 1712
FUKUTA



DM / GM EAzt

Inverter Motor,
Light weight type

» Foot Mounted

) (L)

@ @ | P N
/] E—— £ 1
— ED —~
:ﬁ LI>
N —— . 2la f\
3 1 |- 2 2 @)
! e
N T ° - it
) | B+05 | lc 47m»<' A40.5 -
8) G (LE) ‘ 8405 ‘ c F - A$0.5
(8B) (AB)
3 Lot o
N
D
oH

(Z5E M F#132S)

utput (HP) Shaftgnd
e B HA | HC LE
No. ad
2P GA i Opposite

12 14 — 140 133 90 119 45 194 162 MG20 180 11 16 M5*12.5 6202ZZ 620277 9
1 €1 |2 | = 80 125 155 156 100 130 49.5 80 9 226 179 10 MG20 343 1535 19 40 35 6 155 21.5 M6*16 6204ZZ 6203ZZ 12
2,3 2 1 1/2 90L 140 170 175 125 150 56 90 11 2455199.5 10 MG20 427 196 24 50 45 8 20 27 M8"19 6205ZZ 6204ZZ 18
3 2 1 100L 160 195 192 140 175 63 100 12.5 264 2205 12 PG21 470 207 28 60 55 8 24 31 MI10*22 6206ZZ 620577 23
5 5 3 2 112M 190 224 219 140 175 70 112 14 28952455 12 PG21 485 215 28 60 55 8 24 31 MI10"22 6306ZZ 6305ZZ 31
e 5] 3 132S 216 250 268 140 180 89 132 17.5 326 289 13 @35 531 222 38 80 75 10 33 41 MI12*28 6308ZZ 6306ZZ 50

AMEK(D)E! / AMEK(G)B!

put (HP) Shaft End Bearings
Frame B HA | He | HE LE F°°: d
Load mounte
2P | 4P GA Opposite
side

1 - = 80 125 155 49.5 80 MG20 3445 155 155 215 M6*16 6204ZZ 6203ZZ 14.5
1 12 — 80 125 155 175 100 145 50 80 85 2355 189.5 10 MG20 3835 1935 19 40 35 6 155 215 M6*16 6204ZZ 6203ZZ 16.5
2,3 — — — 90L 140 170 175 125 150 56 90 11 2455 199.5 10 MG20 427 196 24 50 45 8 20 27 M8*19 6205ZZ 620477 21.5

2 1 1/2 90L 140 180 196 125 175 56 90 12 256 210 10 PG21 437 206 24 50 45 8 20 27 M8"19 6205ZZ 620477 24.5

3 2 1 100L 160 196 219 140 196 63 100 125 2775 233 12 PG21 471 208 28 60 55 8 24 31 MI10*22 6206ZZ 6205ZZ 29
5 — — — 112M 190 224 219 140 175 70 112 14 290 2455 12 PG21 485 215 28 60 55 8 24 31 MI10"22 6306ZZ 6305ZZ BO%S

5 3 2 112M 190 224 234 140 210 70 112 14 297 251 12 PG21 485 215 28 60 55 8 24 31 MI10*22 6306ZZ 6305ZZ 40.5

7.5

10’ . — 1328 216 250 268 140 180 89 132 17.5 326 289 13 @35 532 223 38 80 75 10 33 41 MI12*28 6308ZZ 6306ZZ 52

— 7.5 5 3 132S 216 250 268 140 180 89 132 175 326 289 13 @35 532 223 38 80 75 10 33 41 MI12*28 6308ZZ 6306ZZ 59
* Remark: 1.Tolerance of Shaft End Diameter “D” :@11~@28: 6 @ 38~@48: k 6

FUKUTA 2.Tolerance of Shaft Center Height “H” :+0~-0.5




DM/ GM izt

Inverter Motor,
Light weight type

» Flange Mounted

w

(LB)

(LD)

(AD)

(8AC)

w_ |

UUTA—

)

DMVF/DMVB

ey

B5

GMVF/GMVB

(oAC)

L

(LB)

(0AC)
e
ﬂ

(D)

FUKDTA -

(AD)

in

BN

1)

(AE)

B5

B14

B14
EF F#132S)

_ 85/814 Flange = Flange ~ o Flange Y

16 M5*12.5

19

24

28

28

38

AMVK(D)E! / AMVK(G)E!

40

50

60

60

80

85

45

55

55

75

11

6 155 215

8 20

8 24

8 24

10 33

27

31

31

41

M6*16

M8*19

M10*22

M10*22

M12*28

620277

620477

620577

620677

630627

630877

620277

620377

620477

620577

630577

630627

Load

133

156

175

192

219

268

146 99 343

1555 109.5 427

164 1205 470

1775 1335 485

198 155 531

110 160

315 77

303 86

377 116

410 126.5

425 142

451 1375

12

12

16

16

19

165

165

215

215

265

130 200

130 200

180 250

180 250

230 300

12

12

15

15

815

35

85

343

427

470

485

531

315

303

377

4

s

0

425

451

77 8 70

86 100 80

116 115 95

126.5 130 110

142 130 110

137.5 165 130

105

120

140

160

160

202

M6*11 2.5 9

M6*11 3 13

M8*15 3.5 19

M8*15 3.5 25

M8*15 3.5 34

M10*20 4 55

Shaft i 77 & R ~+ B5 Flange R~F B14 Flange Rt

Shaft End
II I=I IIII%IIIHHII

19

19

24

24

28
28

28

38
38

40

40

50

50

60
60

60

80
80

Remark:

35

45

45

55
55

55

75
75

6 155 215 M6*16

GY pI5I5) RIS

8 20

8 20

8 24
8 24

8 24

10 33
10 33

27

27

31

31

31

41
41

M6*16

M8*19

M8*19

M10*22

M10*22

M10*22

M12*28
M12*28

620477

620427

6205727

620577

620677
630627

630627

630822
630877

620377

620327

620477

620477

620527
630527

630577

630627
630627

1.Tolerance of Shaft End Diameter

2.Tolerance of Guidance Diameter

Load

« D”

«

175

175

196

219
219

234

268
268

:h7

1425 109.5 380

1555 109.5 427
166 120 474
1775 133 471
1775 133.5 485
185 139 5225

198 155 531
198 155 531

340 90

377 116

424 140.5

411 133
425 142

462.5 182

451 1375
451 1375

:011~028: j6 B38~D48: k6

12

12

11

16
16

15

19
19

165

165

165

215
215

215

265

130

130

130

180
180

180

230
230

200

200
200
250
250
250

300
300

12

12

12

15

15

15

15
15

B8l5

35

35

380

427

435

471

485

482

531
531

340

377

385

411

425

423

451
451

86 100

90 100 80

116 115 95

1015 115 95

133 130 110
142 130 110

142 130 110

1375 165 130
137.5 165 130

120

140

140

190
160

200

202
2

=

2

M6*11 14.5
M6*11 3 175
M8*15 35 21.5
M8*15 35 27.5

M8*15 3.5 36
M8*15 35 39.5

M8*15 4 44.5

M10*20 4 55
M10*20 4 64

FUKUTA



VM/TM EAst

Inverter Duty Motor,
Light weight type

» Foot Mounted

(eAC)
i
I
i
|
I
I
i

(E)

B3

IE1

Specmcatlons *E %

Frame
No.
2P

202

12 12 14 —

1 1 12 — 80

2,3 2 1 1/2 90L

— 8 2 1 100L

5 5 3 2 112M

T2, | 13

10 10 5 3 1328

(sAC)

(LE)

(HO)
(HE)

140 133 90 45 71 MG20
125 155 156 100 130 495 80 9 223 179 10 MG20
140 170 175 125 150 56 90 11 246 200 10 MG20
160 195 192 140 175 63 100 125 261 2205 12 PG21
190 224 219 140 175 70 112 14 286.52455 12 PG21
216 250 268 140 180 89 132 17.5 326 289 13 @35

1 - = — 80 125
= 1 12 — 80 125
2,3 — — — 90L 140
— 2 1 12 90L 140
— 3 2 1 100L 160
5 — — — 112M 190
— 5 3 2 112M 190
7.5,
10 132S 216
— 75 5 3 132 216
FUKUTA = Remark:

155

155

170

180

196
224

224

250
250

175

175

196

219
219

234

268

100

125

125

140
140

140

140

145

150

175

196
175

210

180

49.5 80

50

56

56

63
70

70

89

80

90

90

100
112

112

132

85

11

12

12.5
14

14

175

223 179

235.5 189.5 10

245.5 1995 10

256 210 10

276 233 12
288 2455 12

297 251 12

326 289 13

268 140 180 89 132 175 326 289 13

1.Tolerance of Shaft End Diameter
2.Tolerance of Shaft Center Height “H”

+0~-0.5

MG20

MG20

MG20

PG21

PG21
PG21

PG21

235
@35

423

477

510

530

621

424.5

4335

477

467

516

530

525

622
622

B3 ({£iEFF#132S)

II

233.5

246

247

260

235

243.5

246

236

253
260

255

313
313

“D” :011~028: j6 @38~D48: k6

19

24

28

28

38

40

50

60

60

80

85

45

55)

55

75

10

Shaft

155

20

24

24

88

16

21.5

27

31

31

41

M5*12.5

M6*16

M8*19

M10*22

M10*22

M12*28

620277

620477

620527

620677

630627

630827

IIE .- OPPOSIte

620277

620377

620427

620577

630527

630627

12

18

23

31

50

19

24

24

28

28

28

38
38

40 35 6 155

40

50

50

60

60

60

80
80

85

45

45

55
55

55

75
75

6

10
10

1555

20

20

24

24

24

38
33

“

215 M6*16 620477

215

27

27

31

31

31

41
41

M6*16

M8*19

M8*19

M10*22
M10*22

M10*22

M12*28
M12*28

620477

620577

620577

620677
630627

630627

630827
630827

620377

620377

6204727

620477

620577
630527

630522

630627
630627

ounted

Foot

21.5

24.5
29
89,9
40.5

52
59



VM/TM izt

Inverter DutyMotor,
Light weight type

» Flange Mounted

©

(LB)

(9AC)
|
T

(LD)

w L

!qj

@ UKL

B5

VMVF/VMVB

IE1

TMVF/TMVB

Shaft # 778 R < 35/3}%‘7'}13"%6 B5 Flange R B14 Flange R+t

Load
IIH“ OPPOSIte

19

24

28

28

38

40

50

60

60

80

B | 6 eSS |25

16

45 8 20 27

55 8

55 8

24 31

24 31

75 10 33 41

M5*12.5

M6*16

M8*19

M10*22

M10*22

M12*28

620277 620272
620477 620322
620577 620472
6206ZZ 620522
6306ZZ 630522
6308ZZ 630622

AMVK(V)E / AMVK(T)E!

IE3

133

156

175

192

219

268

143

99

1525 109.5

158

171

198

Shaft t 71 85/814 F

Shaft End

19

19

24

24

28

28

28

38
38

= Remark:

40

40

50

50

60

60

60

80
80

120.5

1335

155

(9AC)

(8AC)

(L)

7]

(9AC)

FUKUTA|

(LB)

(LD)

(AD)

SN
oP

423

477

510

530

621

35 6 155 215 M6*16 6204ZZ 6203ZZ 156
35 6 155215 M6*16 6204ZZ 6203ZZ 175 1425 1095 430
45 8 20 27 M8*19 6205ZZ 6204ZZ 175 1555 109.5 477
45 8 20 27 M8*19 6205ZZ 6204727 196 166 120 514
55 8 24 31 MI10"22 6206ZZ 620577 219 1775 133 516
55 8 24 31 MI10+22 6306ZZ 630527 219 1775 133.5 530
55 8 24 31 MI10"22 6306ZZ 630522 234 185 139 5775
75 10 33 41 MI12*28 6308ZZ 6306ZZ 268 198 155 621
75 10 33 41 M12*28 6308ZZ 6306ZZ 268 198 155 621
1.Tolerance of Shaft End Diameter “D” :@11~@28: j6 @38~048: k6

2.Tolerance of Guidance Diameter

“N”

340 77

383 86

427 116

450 126.5

470 142

541 1375

12

12

16

16

19

165

165

215

215

265

110 160

130 200 12

130 200 12

180 250 15

180

250 15

230 300 15

B5 Flange R~

390 90

427 116

464 140.5

456 133

470 142

5175 182

541 1375
541 1375

12

12

11

16

15

19
19

165

165

165

215

215

215

265
265

130

130

130

180

180

180

230
230

200 12

200 12

200 12

250 15

250 15

250 15

300 15
300 15

8I5

35

35

45

35

35

35

423

477

510

530

621

430

477

475

516

530

537

621
621

(AE)

340

383

427

450

470

541

390

427

425

456

470

478

541
541

86 100

116 115

126.5 130

142 130

1375 165

80

95

110

110

130

B5

(1258 F#132S)

B14

B14
(158 F8 F#132S)

120

140

160

160

202

B14 Flange R+t

90 100

116 115
101.5 115
133 130
142 130
142 130

137.5 165
137.5 165

80

95

95

110

110

110

130
130

120

140

190

160

200

202
202

M6*11

M6*11

M8*15

M8*15

M8*15

M10*20

35

35

35

13

19

25

34

55

M6*11 145
Me'1l 3 17.5
M85 35 215
M85 35 27.5
M35 35 36
M8*15 35 39.5
M8*15 4 44.5
MI0'20 4 55
MI020 4 64

FUKUTA



Motor Mounting Arrangements

RETEKHEAZX (R48 1EC 60034-7)
B0\ 5 [ EE T
Shaft Mount
MIEE (Foot) %B8(Flange) JAIEE (Foot)& S (Flange)
e = M85 :[ || MB35
Horizontal Shaft W
] ___
M B3 :l M B14 :{ || M B34
IM V3 IM V36
= B i
B E) i
Vertical Shaft
Shaft up IM V19 IM V37
IM V1 IM V15
S ‘H B
BmmE
Vertical Shaft 0 2
Shaft down IM V18 IMV17
IM V5
T

FUKUTA




Foot Mounted Motors

BA X M 2 @& € B X
EATURAI R RS 2 5 EATURAI BE RS 22 5 EATURAI R RO AR 25
(feEimBENETL) (CEHmEREE L) (s EMETA)
Wall mounted Wall mounted
(feet lhs when viewed on ceiling (feet rhs when viewed
from drive end) from drive end)

IM B6 IM BS IM B7

FUKUTA



D,V,G, T zssnma=an

D,V,G,T Series Forced Cooling Fan Detail

e | e | owm | me
m-im Frequency (2

71

80

90
100
112
132
160
180

200

225

250

280

BIS

| #8 mEI

| L s [ s [ ow [ w
m-:m Frequency (10

80

90
100
112
132

FUKUTA

I T = T T =S S Sy SR S

230V
230V
230V
230V
230V
230V
230V
230V
230V
230V
220 / 380V

220 / 380V
230V

220/ 380V
220/ 380V
230V
220/ 380V
220/ 380V
220/ 380V
220/ 380V
220/ 380V
220/ 380V

230V
230V
230V
230V
230V
230V

50/60
50/60
50/60
50/60
50/60
50/60
50/60
50/60
50/60
50/60
50

60
50/60

50
60
50/60
50
60

50
60

50
60

50/60
50/60
50/60
50/60
50/60
50/60

Current (Amps)

0.11/0.09
0.25/0.23
0.25/0.23
0.12 /0.12
0.12/0.12
0.10 / 0.11
0.22/0.17
0.42/0.31
0.29/0.35
0.43/0.63

0.28/0.24
0.32/0.24
0.30 /0.40

0.30/0.17
0.30/0.17
0.30 /0.40

0.30/0.17
0.30/017

2.0/1.1
1.8/1.1

2.0/1.1
1.8/1.1

0.11/0.09
0.25/0.23
0.25/0.23
0.12/0.12
0.10/0.11
0.22/0.17




% E E réI-Z‘ - 35 EE Motor Bases (Optional)

B M = Ja A f
] t . | |
| IR 17
= = | 1
h%7 C @LM = Yﬂ%/ ) ¥%‘H E
T mm . mm | I ]

BM

F#160 - F#180 F#200L

FRAME FRAME
it | [ 5 | c [ |or [oc onfouon oz | - for I 305 [ a ] o c oe [or fsc oo an ez e

160M~L 324 80 87 125 185 25 50 395 410 15 210 254 200L 390 135 100 160 230 35 75 570 510 20 305

180M~L 366 90 94.5 140 205 30 55 450 450 15 241 279

FUKUTA



FUKUTA"®

#/2F) Headquarter /$A$EE & Tongluo Plant
8BS RPN 6 58

No 6. Tongke 6th Road., Tongluo Township, Miaoli
County 366, Taiwan (R.0.C.)

Tel: 886-37-980799 Fax: 886-37-980709

BTHRE HEEERMR

aEahhHEES TR 18 58

No.18, Fenggoing S. Rd., Shen Kang Dist., Taichung
City 429, Taiwan (R.0.C.)

Tel: 886-4-2515-9568 Fax: 886-4-2515-9538

=HEHRHBIRAS

FUKUTA ELEC. & MACH. CO., LTD.

M E FengZhou Plant

BEERHHEESIMNEE 301 & 2-1 5%

No. 2-1, Ln. 301, Feng Chou Rd., Shen Kang
Dist., Taichung City 429, Taiwan (R.0.C.)

Tel: 886-4-2528-8833 Fax: 886-4-2528-3979

IE&EEFR
AEETELEED " FK2958212
Tel: 886-3-3272-909  Fax: 886-3-3275-158

MEEERR

BEAETRENBEH201H 1R 118
Tel: 886-6-2098-236 Fax: 886-6-2085-402

BEEEEOD #HASHYTK

T 556-0011 AMRAFAPFR A3 REXE R 2-10-70
BAIN—O22T— 19 B

Tel: 81-06-7662-8687 Fax: 81-06-6777-7941

EHES =A%

Catalogue

Website




